ANASF

e Phonetics-1-
e INTRODUCTION
e Definitions:
e Phonetics — the study of the way humans make, transmit and
receive speech sounds.
228 @l gal Juial 5 J ) el o) yal 48y Hla Al 5o - il pall Ble o
e Divided into three main branches:

Koy 5 A )| pui e @

Articulatory phonetics | Acoustic phonetics Auditory phonetics
Bl ) ga) ale i pall - pual) ale (Peandl- &) g ale
The study of the way the | The study of the the study of the way
vocal organs are used to | physical properties of | People perceive
produce speech sounds. speech sounds. speech sounds.

e Phonology - b ¢l 548l ale
e The study of the sound system of languages, and of the general
properties displayed by these systems.
028 Ao 51 duia g yeall dalall ailiadll g cclalll 8 o geall alai Al 50 o
Aalaity)

v (Roach, 1999)
e The systems of rules underlying the sound patterns in a
language.
Al 8 @ geall 2ilai lgde o giy Al ae ] @l dadail o
v" (Denham & Lobeck, 2010)
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e This involves knowing what sounds are or are not in the
language and the rules that govern pronunciation

Glaill Sai il ac) gall g Axdll L350 ga s e s ) pua) A8 jra s shaiy 130 @

Read and analyse the following scripts:4sill ge gaill Julad g 3¢ 8

Aiteyu—ah, nemmain wat debladigarmen say, mos Malaysians tok
Manglish. Bekoswai? Bekos we all shai oni to spik proper English —
afturds people ting we trying to action oni. But Manglish is best—la
when you want to simply toktok like fren-fren la.

You want to toktok osoken, no pobem, we
gifchan you flers la. Simply lern by hart the list of
popular Manglish words and phrases, and very
soon oridi you can go round blarfing like tera oni

Phonological knowledge permits a speaker to
slel e ) alSial s A o 53 6l A8 2

produce sounds that form meaningful utterance
2SI e JS5 S G V) Ll

E.g. /n/ /&l Ib] - nab or ban but not bna or nba

recognize foreign accent
LiaY Al Gl jie )

E.g. buffet origami pistachio

make up new words
3aa GilalS gl

E.g. /s/ /el Inl It/ - sent, tens, nets, nest

add appropriate phonetic segments to form - plurals and past tenses
el Lia 3l 5 aandl - 23 gaill dnilia 4 g il Adlizal

E.g. plurals- books roses; past tense- picked took

know what is or 1s not a sound in ones’ language

E.g. no word in Eng begins with the nasal /n/
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Speech Organs and Articulation
kil g eﬁﬁ‘ Sjﬁi

How are speech sounds made?

First, air coming from the lungs passes through the vocal tract, which
shapes it into different speech sounds.

The air then exits the vocal tract through the mouth or nose or both.
The process by which air is made to move out of the lungs is called an
aggressive pulmonic airstream. All English sounds are produced in this
manner.

HOW IS SPEECH POSSIBLE?Sl) ki i

THE AIRSTREAM EXPELLED
FROM THE LUNGS IS THE MOST
COMMON SOURCE OF ENERGY
FOR OUR VOCAL ACTIVITY.
IN THE TRACHEA OR WINDPIPE
IT PASSES THROUGH THE
LARYNX, CONTAINING THE
VOCAL FOLDS OR VOCAL
CORDS.
il gay il e el 2
A geal) Lkl A8l e g Sy
‘;ﬂ\ c'é);iaj\)gc:\:ﬁ\j@\w\gﬂj
Agi geal) Jlad) o 5 5inS

THE FRONT PORTION OF THE TRACHEA OR WINDPIPE IS
PROMINENT IN THE NECK BELOW THE CHIN AND IS KNOWN
AS “ADAM’S APPLE”.

Madl AalE anly Ca ey g BN 0 A8 A 5 jbs Al sl Asadll (e alaY) ¢ 3al
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ANOTHER VIEW s Al Jhideay

Seven main articulatorsisws ) Jualia daiu

1. The pharynx a sl
A tube which begins just
above the larynx.
- Top end is divided into two:
a) the back of the mouth
b) beginning of the way
thru’ the nasal cavity
i 5 jaiall (358 lay sl
(’éﬂ % ‘;Alsj\ ;)';J\ (\
Casad BB (e ookl e Al (@
N

2. The velum or the soft palate
sledll ol slial)
- The velum is raised so that air
cannot Escape through the nose.
- When the tongue is in contact
with the lower side of the velum,
sounds (velar Consonants) such as
/k/ and /g/ are produced.
¢ sel) ankain ¥ Cua 3LAY) 1 oy
Gilall e Juail e glalll (55 Leie -
Cagalll - ila) s e aledl) e i)
O s e (ASL)

3. The hard palatecleall cisl)
- Often called the ‘roof of the
mouth’.
- has smooth curved surface.
"l Gt e e Ll -
oalal cinie a4l -

4. The alveolar ridge

- Between the top front teeth and
the hard palate.

- Surface is covered with little
ridges.

- Sounds made by the tongue
touching this area such as /t/ and

/d/ are called alveolar.
clial) g Llall Gl Gl o b -
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B)M\:\.Q\AJ‘CAC.L&A\M%-

538 dwaDa lalll e dadiall ol uaY) -

/3] s/ 5/ Jiedahaidl
5. The tonguedkdl 6. The teethoiaY)
- A very important articulator. - consist of upper and lower teeth
- Can be moved into many - Sounds made with the tongue
different places and different touching the front teeth such as /t/
shapes. and /d/ are called dental.
Aliaic degaal - o) 5 Llall L) (g ¢ oS-

saae Sl ) Jasm o oS Ja - Ol el lalll a3l ) sl
-4l CLS -
- Parts of the tonque; ol &) 3al

front back
blade

tip

7. The lips can be
- pressed together to produce bilabial sounds, such as /p/ and /b/
- brought into contact with teeth to produce labiodental sounds such
as /f/ and /v/
- can be rounded to produce lip-shape for vowels like /u: /
oSS ol eladll oSy
/u/;/&/dﬁacuusﬁd\ﬂ\ij\C\LY\Jmﬂbm-
11V s/ 5/ Jiedy sl Ol gal¥) 2l Gl Juail ae cads -
[ 105 ) Jie Alall g ad pladd) JSG ) () Lo )85 (S -

The 7 articulators are the main ones but there
are 3 others to remember )
Lgia SA 9 AT 3 (A dlia o819 7 A ) Jualdal)

q
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Larynxs aiad)

A very complex &
independent
articulator.

The larynx (Adam’s
apple) vibrates when
you produced the
voiced sound, /z/.

AdSlia g Aladl 3084
):\@_1 (?'ﬂ 2.;\.33) 3).;.'\;5\

J o=/

Jaws &4l
- The movement of
the jaws (especially
the lower one) helps
a lot in speaking.
S G AAS Al
(Aol ba sad )
Cpaadl (8,08 ae Ly

Nose & nasal cavity
Y iy gaill g asy)
- very important part of
our vocal apparatus of
making sounds,
specifically nasal sounds
such as /m/,/n/, /y/
el e Wl haa g 6 3o -
Jie 48 &) o) L o
[Old ol dal

e THE CONCEPT OF “PHONEME”

What are these symbols?¢_ sl o2 & La

T OU:|IS|CILX
e |9|3:0:|08 |10
XA D|ea allQul
Piblt|d|tfid3/K |9
fVIO|dIS|IZ|f]3
MmN h|Lir|iw|]

They are called phonemic symbols (as opposed to phonetic symbols).
Each one represents a PHONEME, that is, ONE specific

SIGNIFICANT speec

h sound

138 5 (o Jiag 2al 5 IS5, (A saall ) sall e Sl o) dpani 8 ) 5a ) Leple (3l
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IO U|IS eI
e |9|3:0:|03|IJI 0
XA Q| D|ea|allau
Plb|t|dtrd3/K [9
f V|IO|dSIZ|ISf|3
MmN h|L|r|w|]

Significant?
By “significant” we mean that each of these sounds can make a
difference in the meaning of a word.
Take the case of “map” and “cap”. Phonemes /m/ and /k/ are
significant from the moment they can alter the meanings of words.
s ol ALY e AW 8 Chaat o) Gl geal) Sl S ) e Mg Aol o

e O (R O s /& 5/ /e il Mad g MLy Al Al 33

GOV N PP E 9

e PHONEMESI!!!

A phoneme is the smallest contrastive unit in the sound system of a
language.

(o sl alaill 3 Al 45 jlia san g jraal g ayisdll
A phoneme is a minimal unit that serves to distinguish between
meanings of words. ;
LS Sl G !l e Jarg (631 S0V 2l Bas g o8 ani gdl)
By convention, a phoneme is represented between /slashes

: [T[Ou[I8]eTIfD< e S
e |3[3:[0:|03[|OI |20 PHONEMES ARE
X |Ala|DleaaTlao ENeLISH
P bt dtrdzs K |9|

f I VIeld|sS|Z][f[3 o®

MmN O h| Lir|w|J

Approx. 40, depending on the dialect
daglll Ao 1alaic) (40 Ly i
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e Features of Pronunciation sl &) jaa

Phonemes (44)
L it il ,
Consonants (24) Vowels (20)
d5Slud) f —— 4 A
Voiced Unvoiced Sir*gle Diphthongs <&y (8)
5 Guaba vowels (12)

long  Short,

e Features of Pronunciation

Suprasegmental features

N . \7
Intonation Stress
Word Sentence
stress stress

Phonemes & Letters

Do not necessarily have one to one sound correspondence

Different letters — one soundms
e.g. Letters 'q’ ‘¢’ 'k’ - /k/ in quick, call, kid

One letter — different soundsidliss <) seal - aal 5 o
e.g. ‘I’- i/ inink, /a1 / in hind, /3:/ in irk

Combination of letters — one soundas! s & sea - 48 yall Cag yall
e.g.‘'wh’ /w/ in when, ‘ght’ /t/ in night,

‘gh’ /f/ in laugh Letters — silent e.g. bomber, almond, sign

8|
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e Phonetics -2-
e SOUNDS OF ENGLISH: 4 3alaiy! dalll & & sa¥)

e Consonants are sounds produced with some restriction or total
closure in the vocal tract as the air from the lungs is pushed through
the glottis out the mouth.

G 525l [y ae A gaall 3Ll 8 daiiall il ) 8 ASLull Cag ) @

e 24 consonants in English (including /j/ & /w/)

e Description: <<l

Voicing: Voiced (vibrated) or voiceless (non-vibrated)?

Place of Articulation: (il ¢Sl

In articulatory phonetics, the place of Articulation (also point of
articulation) of a consonant is the point of contact where an

obstruction occurs in the vocal tract between an articulatory gesture, an
active articulator (typically some part of the tongue), and a passive
location (typically some part of the roof of the mouth).

Along with the manner of articulation and the phonation, this gives
the consonant its distinctive sound

Place of articulation (passive)
The passive place of articulation is
the place on the more stationary
part of the vocal tract where the
articulation occurs.
£ e Sa o Huaill L) gls.d\
Gaany i ipeall leadl G ST el
" Lty
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It can be anywhere from the lips,
upper teeth, gums, or roof of the
mouth to the back of the throat.
oldlll e e S gl A 0sS Of oS
o oal) G adll G Al g 4 lall i)
Sl e Al

1. Bilabial or Labial

Labial: Consonants whose main restriction is
formed by the two lips coming together have a
bilabial place of articulation. In English these
include [p] as in possum, [b] as in bear, and [m]
As in marmot.

gJ/f""f%“ J : Labial

N l“, b, p, m

Labial (/p/, b/, Im/, :

sconstriction (or complete closure) at lips
«the only unvoiced labial is /p/

«the only nasal labial is /m/

L abial consonants are consonants in which one or both lips are the

active articulator.
1The Lower Lip and the Upper Lip press together.
1Sounds like : b, m, p,

Ex./m/my /p/pen /bl book

2. Labio-Dental (/f/, IVl):

*The English labiodental consonants [v] and [f] are
made by pressing the bottom lip against the upper
row of teeth and letting the air flow through the
space in the upper teeth.
Gaob 0o a5 [ 5] 5 [V] 58 4 ulai¥) ALl 5 sl
Fleadl s ) e g shall Caall am o) 288 e Jasiall
LIPS EA Y N WA [ EQPRA VR [t i

= || Labio-dental

( n fv
2 N U1

2
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“Iproduced by constriction between lower lip and
upper teeth

el lia¥) g ) 4851y (bl Leaiss )
_lin English, all labio-dental phonemes are
fricatives
EX: /f/ fan, phone  /v/ view, vision

3. Dental (/th/, /dh):

eDental: Sounds that are made by placing the tongue

against the teeth are dentals.

& Ol e ladll aia g 3 sk e o5 A1 il ua)
dentals

The main dentals in English are the [th] of thing or

the [dh] of though, which are made by placing the

tongue behind the teeth with the tip slightly between

the teeth.

produced by constriction between tongue tip and

upper teeth

(sometimes tongue tip is closer to alveolar ridge)

Interdental

0,

«in English, all dental phonemes are fricatives

*EX: /th/teeth, thin [ the tip of the tongue touches the upper teeth.
/dh/ then, the, there [ the blade of the tongue touches the upper teeth.
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4. Alveolar (/t/, /d/, Isl, Iz/, In/, ]l]):

«Alveolar: The alveolar ridge is the portion of the
roof of the mouth just behind ALVEOLAR the upper
teeth. Most speakers of American English make the
phones [s], [z], [t], and [d] by placing the tip of the
tongue against the alveolar ridge. The word cooronal
Is often used to refer to both dental and alveolar.

A< Alveolar
,

Y g .-::‘. I dtszn
SR

«tongue tip is at or near alveolar ridge [t/ table
-a large number of English consonants are alveolar /d/ door
*/1/ before vowel is “light” /1/, after vowel is “dark™ | /s/ see
/. Iz] zoo
/n/ nose
il eye
5. Palato-Alveolar (/sh/, /zh/, Ich/, Ijhl, Ir]):
*The palato-alveolar sounds [sh] (shrimp), [ch] iy
(china), [zh] (Asian), and [jh] (jar) are made with |7~V Palal
the blade of the tongue against this rising back of { 57

the alveolar ridge

«tongue is between alveolar ridge and hard palate
«2 fricatives, 2 affricates, 1 retroflex

retroflex has “depression” midway along tongue
«the palato-alveolar fricatives tend to have strong
energy due to weak constriction allowing large

airflow

6. Palatal (/y/): S

ePalatal: The roof of the mouth (the palate) rises sharply from the back
of the alveolar ridge.. The palatal sound [y] of yak is made by placing

4
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the front of the tongue up close to the palate.
produced with tongue close to hard palate

0 “extreme” production of /iy/

EXx. Yard, you, university, student

Note: Unimportant [ is common with the first two letters of
(University), however, they sound differently.

7. Velar (/k/, /al, Ing/): A

Velar: The velum or soft palate is a movable
muscular flap at the very back of the roof of the CTY Vel
mouth. The sounds [Kk] (cuckoo), [g] (goose), and [N] 0y ek
(kingfisher) are made by pressing the back of the LIk

tongue up against the velum.

produced with constriction against velum (soft
palate); the back of the tongue touches the velum (the
soft palate)

«only plosives /k/ and /g/, and nasal /ng/
*EX. /k/ car, cat, kind, key

*/g/ gas, goal, gear

/ng/ playing, driving

8. Glottal (/h/):

*Glottal: (the glottis is the space between the vocal N
folds). A glottal stop is a speech sound articulated by a "_{;?-\l\ ;
momentary, complete closing of the glottis in the back .
of the throat. It exists in many languages, as in English e
and Hawaiian uh-oh, O'ahu, and ka'aina.

«/h/ is the nominal glottal | «the primary cue for /h/ is formant structure
phoneme in English; in | without
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reality, the tongue can be | VVoicing, an energy dip, and/or an increase in
in any vowel-like aspiration-Noise in higher frequencies.
position

e Place of articulation (active) szl oal

e The articulatory gesture of the active place of articulation
involves the more mobile part of the vocal tract. This is
typically some part of the tongue or lips. The following
areas are known to be contrastive:

1. The lower lip (labial) Add) 4dd)

2. Various parts of the front of the tongue:

v The tip of the tongue Gbwdll i sk
v" The upper front surface of the tongue just behind the tip,
called the blade of the tongue

3. The surface of the tongue under the tip

e In bilabial consonants both lips move, so the articulatory
gesture is bringing together the lips, but by convention the
lower lip is said to be active and the upper lip passive.

MANNER OF ARTICULATION — PLOSIVES

Consonants are sounds which involve full or partial blocking of

airflow. In English, the consonants are p, b, t, d, ch, |, k, g, f, v, th, dh, s,
z,sh, zh, m, n, ng, |, r, w, and y. They are classified in a number of
different ways, depending on the vocal tract details we just discussed.

1. Stops, also known as plosives. The air is blocked for a moment, then

6
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released. In English, they are p, b, t, d, k, and g.

a. Bilabial plosives: p (unvoiced) and b (voiced)

b. Alveolar plosives: t (unvoiced) and d (voiced)

c. Velar plosives: Kk (unvoiced) and g (voiced)

Aspiration — the blowing out of air for the voiceless plosives. We use both
in English (pit vs poo), but it isn’t a distinction that separates one meaning
from another.

FRICATIVES AND AFFRICATES

2. Fricatives: involve a slightly resisted flow of air. In English, these
include f, v, th, dh, s, z, sh, zh, and h.

a. Labiodental fricatives: f (unvoiced) and v (voiced)

b. Dental fricatives: th (as in thin -- unvoiced) and dh (as in the -- voiced)
c. Alveolar fricatives: s (unvoiced) and z (voiced)

d. Palatal fricatives: sh (unvoiced) and zh (like the s in vision -- voiced)
e. Glottal fricative: h (unvoiced)

Voiceless: /f/, /el s/ [[l, /nl

Voiced: /v/ /8l 1zl ]3]

3. Affricates: total closure of speech organs and air is released with
friction

Voiceless: //  Voiced: /d3/

church judge

e 4. Nasals

Sounds are produced when air flow through the mouth is completely
blocked and released through the nose.

V) Bk e die 7ok adll (B 5k e Lela o sedl (3835 du Ladie &l a2 L) Al
Voiced: /m/, /n/, /y/
There are no voiceless nasals.
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e 5. LIQUIDS

5. Liquids are sounds with very little air resistance. In English, we have |
and r, which are both alveolar, but differ in the shape of the tongue. For I,
we touch the tip to the ridge of the teeth and let the air go around both
sides. For the r, we almost block the air on both sides and let it through at
the top. Note that there are many variations of | and r in other languages
and even within English itself! Both /| / and / r / are voiced.

red, led

e 6. APPROXIMANTS — GLIDES

6. Semivowels are sounds that are, as the name implies, very nearly
vowels. In English, we have w and y, which you can see are a lot like
vowels such as 0o and ee, but with the lips almost closed for w (a bilabial)
and the tongue almost touching the palate for y (a palatal). They are also
called glides, since they normally “glide” into or out of vowel positions (as
in woo, yeah, ow, and oy).

Examples: /w/ and /] /Both sounds are voiced.

wed yet
IPA Chart
Place of Articulation
Bilabial | Labio | Inter Alveolar | Alveo- | Palatal Velar | Glottal
dental | dental palatal
k5 .
= | Stop p b : St G : k ‘g |?
.g Fricative f %106 B8ils =z 45 3 h
< | Affricate : : cod tf ad3
© | Nasal m i AL o n
g |Loweei BB B B '
F‘: Approximant : o s
Retroflex E it b 233 S
Approximant - R S
Glide MW o g B 3
State of the Glottis
| Voiceless ENGISR. s a

8
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PHONEMES ALLOPHONES

Phoneme: smallest significant unit | Allophone: a variant of a phoneme

of sound. Example: the /p/ in ‘pil’ is different

Contrast:/ p/and/b/ though similar sound in “spil’.

‘pin’ and ‘bin’ are phonologically | The difference is in the aspiration /p/

similar except for the first in ‘pit’ can be transcribed /phi t/ with

phoneme. /ph/ indicating aspiration. What

The same appliesto /s /and /[, about ‘tap’?

‘sip’ and ‘ship’. Allophones occur only in certain
positions within a word.

PHONEMES

Minimal pairs- two different words which are identical in every way
except for one sound segment that occurs in the same place in the string.
E.gs.. mat  met ray lay

Imaet/ /met/  [ret/ [let/
If more than two words in a string, they are called minimal sets.
E.gs.. sue, shoe, chew bib, bit bid big
fsu:/ [fu:l Itfu:/  [oib//bit//bid/ /big/

o ALLOPHONES
COMPLEMENTARY DISTRIBUTION

Complementary distribution: When two or more sounds do not occur in the
same sound environment.
E.g.: /l/ at the end of a syllable —

/bwsl/ and /I/ at the beginning of a syllable - /let/
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e ALLOPHONES
FREE VARIATION

Free variation - When a word is pronounced in two different ways — using
two different phonemes but has no effect on the meaning

Al G OS5 Al al) il sall pe i) Jadtiog - opnialisa iy ylay Baa) 5 AWK gl Ladie
Examples:
‘either’ - falda/ or /i:00/
‘ed’ endings of the past tense
‘tomato’ - [toma:tow/ or /ftomeltas/

10
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e Phonetics-Third Class-
e EXxercise

CONSONANT DESCRIPTION PRACTICE. 4 leadl caia g (38 58
Describe the following consonants 4.l LSLul o g jall Caas,

Place of Articulation
[s] Bilabial | Labio | Inter | Alveolar | Alveo- | Palatal | Velar | Glottal
dental | dental palatal
[d] H
"é Stop p
[2] é Fricative
<« | Affricate
S | Nasal
[T] g
= Lateral
§ Approximant
[m] Retroflex
Approximant
[w] Glide M
State of the Glottis
LVoiccless Voiced i l

Give the consonant that the following descriptions correspond to.
Al Cilia oY) ae (Gt Al (SLud) Cajal) glac)

Place of Articulation
voiced velar nasal Bilabial | Labio |Inter |Alveolar | Alveo- | Palatal | Velar | Glottal
dental | dental palatal
voiceless postalveolar affricate g
§ Stop p
voiced bilabial stop § | Fricative
E Affricate
L
voiceless velar stop ; D
: Lateral
‘ o 5 Approximant
voiced alveolar fricative Retroflex
Approximant
voiced palatal glide Glide ..
State of the Glottis
LVoiccless
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Say whether the following consonants
are voiced or voiceless.

dfiga ye al 4gisa b e LSLL) Cag pall ol 13 L 8 @

], [T], [b], [p], [D], [s].

[fl, [v], [t], [d], [K], [9], [S]
(this is tt\e symbol for the sh of ship)

b (pe S ey 9o 1

3. The following pairs of words are distinguished in pronunciation
partly or solely according to whether they contain a voiced (vd) or
a voiceless (vl) consonant.
e (5 siad cuilS 13) Lol e g add L g ) (glail) 8 40U Ol (o) 5 51 aal
Sl @ all(VL) cbia (VD) Sisa
e Say which the crucial consonant in each case is, and specify its
voicing status.
L sisall lgxaa g aaa g Alla IS 8l (SLa s e ol 8

w2 pin, bin toll, dole <l sl s 700, Sue

Jié - fail, veil gin, chin wreath, wreathe (“in Smiles™)

either, ether (a kind of gas) Aleutian, allusion.
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4. Changing the voicing of a single consonant in each of the
following results in a different word.

Which consonant and which word? (Sometimes there’s more than

one possibility.

()5 Jlaial (e ST @llin sVl Gy 8) S35l SLull (o a6l @
Concentrate on the pronunciation, not on the spelling.)

ol e s el e 55 0 o

Razor o se Seal ~a scarce b Bicker Jlsi
lce s Ankle JsKl |Dug s Lunge &
thigh Confucian

e Do you remember the Vocal Tract?
¢4 guall Mlacal) S35 JA 0

hard palate ___
teaethndge / alveclum

Fig.6

vocal folds

——— pharynx

soft palate / velum

food passage / cesophagus

trachea / windpipe
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Exercises

5. Show where the following are
situated on this diagram of the upper

vocal tract:

1. blade of tongue, 2. front of tongue, 3.
velum, 4. pharynx, 5. larynx,

uvula, 7. alveolum, 8. root of tongue. .6

Which of the following parts of the vocaltract are moveable

lps, tomgue, alveolum, pharyny, velum, wonda, nasal cavity,

Alveoles

Dentes (Teeth)

§ Vocal Cords
1 (Glottis)

Say whether the following are TRUE or FALSE. If fals, say what the correct
statement should be.

(a)  The pharyns is a cartilaginons serceure ateached to the trachea.

(b)  The alolm serves o open and cloe the entranceto he nasal caviy
() The lower frone teesh are not involved in spech.

(d)  The wonda s the exvreme tp of the sof palae.

(¢) ~ Larynx s an alemnative name for the reehridge

Dentes (Teeth)

{ Vocal Core¢
+— (Glottis)
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¥ L IVOICE-BOX ¢ puall Juall (s dilisall ¢(FOOD ecasls)
TEETHRIDGE «CAVIRY Glall (e Alall ¢ 5l 8

Givethe technical names o the following

windepie, b, e erween the weal o foipe,
wedids, cavyae the bk of he o,

Resisting the temptation to look at the text again, place the following
consonants in the appropriate square in Fig, 28 above (say the sound to
yourself i in doubr). Voiceless and voiced paits po next to one another in the
same square (voiceless first),

kdpptbdd

Fo. 28

bilabial dental alveolar valar

5k oAl dae ) A sl
(s Al 3 a Uil Lsk‘
2L Cag Al gy g
nliall (s 3 Al
Ji) oJe| FIG.28 &
S 1)) sl SOUND
Y ozl (els

O s s aed Cigea
Laguiazy )l s () lad
Y) FIRST & bax
SQUARE
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Complete the following characterizations by inserting, in each case, two of
the following terms: voiced, voiceless, bilabial, dental, alveolar, velar. N.B.
voicing comes before place of articulation in such characterizations.

[b]isa consonant
k] isa consonant
[d]isa consonant
[tlisa consonant.

s S 713 ook
-l Slalhiaall Cos
c?@J O o Y cd.ﬁ.ﬂ

o3 Jia 8 kil
iy sl

Place of Articulation

Bilabial i Inter

Stop P

Fricative

Affricate

Nasal

Lateral
Approximant

Manner of Articulation

Rertwroflex
Approximant

Glide A

LVoicelcss

Give the IPA consonant symbol corresponding to each of the following
characterizations:

voiceless alveolar

voiced velar

voiced dental

voiceless bilabial

& [PA 38 5 e dac
2 Cipen 5 (e S
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Place of Articulation
Bilabial Labio | Inter Alveolar | Alveo- Palatal Velar Gilottal
% Stop P
= Fricative
- | Affricate
E Nasal
= | Lateral
s Approximant
Rertroflex
Approximant
Glide M
LVoiccless
The consonants in each of the following pairs are alike in some respects, but
different in others. Specify the resemblances and differences. Example: [p] and
[b]. Both are bilabial. Both are stops. [p] is voiceless, [b] is voiced.
[z] and [d] 5
[s] and [d] 1 i‘f‘;{
ricative
[t] and [k] E Affricate
S | Nasal
[vland [g] s Lateral
[b] and [B] g :pprt;]ximam
etroflex
[v] and [B] Approximant
(b] and [v] Glide
[s] and [f] LVoiceles\s
70. Insert these affricates in the appropriate places on the following chart: [d], [dg], .
e PRrOpTa e W08 T 3 AFFRICATES z/,3)
. o . . 3
& labio- post- p}wyn- .
bilabial i dental | alveolar aveol palatal | welar uwvular d glottal (53 m‘
Bilabial Labio Velar Glotal
g Stop P S
= Fricative
= Affricate
s Nasal
Lateral
Approximant
Rewroflex
Approximant
Glide A

[ Voiceless
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Vowels
al=ll Vg >
You'll recall that consonants are grouped according to certain “dimensions

im0 sleV el oz Olegazo sl Croasil @S Ul gzl 0l IS

Place of articulation, manner of articulation, etc.
(slogdl o WO =l A=y Sl Hlasoll) alasl as,,b ¢ (slopdl s USL) V)=l gy USo
adl...

Vowels can also be grouped according to the dimensions along which they vary.
UeSs il (Leladl ) sVl (e by wlegozo (sl puwdis Loyl aell g ,>
vl lpasy G lowd oMWV

The Language Construction Kit lists these dimensions as Height, Frontness,

Roundedness, . )
ool gl 8,)laall (glai)Vl iolbosun OM s sVl 0id sl aslll by wlgsl

0, lasaw)l 9
Height

How high is the tongue — i.e., how close to the roof of the mouth? )
ol wsw w,lsy ol padl iw (I Jad ludll a5, Sao Sl

This is usually divided into three positions, quite creatively (B8 - ¢ 3.0 J)named
“High,” “Mid,” and “Low.”
waein « daawg « sJle 1g8lge GW (sl puwsis Ul S Layl L) VI ol

:-) Say "Bee” or “You."” That is High. Say “Cat” or “Father.” That is Low. Say “Say”
or "Show."” That is Mid.

Frontness
osdl doaso o Vlwdll )8 Saw galo 1auwloVl
What part of the tongue is involved; that is, what part is raised or lowered?
Vbl o £33 Sl usow (Bl shiv susodl sibudll s52dl sde Jxi Lyl s
Soaiiis ol givy
Is it the part close to the front of the mouth, the back, or the center?

035 30 pl a5,580 o)l doiso) L8Vl el 9b B
These are ever-so-cleverly classified as “Front,” “Central,” and “Back.”
(@u2l>)8,580 9 (@35 ,0)5S yo0 ((@uolol)aorsn (sJI frontness ciouwd adc

Front vowels are heard in “Bee,” "Snake,” and "Cat.” 9 lpeouuwi awloVl dlall Bg,>

aolScat 9Bee gSnake

Back vowels are heard in “You,” "Show,” and “Father. s% gowwi aualz]l alell Bg,>
ks you, show, and father


http://www.zompist.com/kitlong.html
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" English has only two (some would lump (ge>9 Jo=I) them together and say only
one) Mid vowels

€9 9 lodgeoz; Ul pasdl a9 adawgll el Bg)> o Ulegs (Sgixi &3V aelll

A>lg

Essentially, it's the same sound but is classified as to whether it's used in a stressed
or unstressed syllable

Lpolozeiw! UGS (sde Aoy lpowudig waall Luss L) Mid Vowels adawgll alell g ,>
3330 jully 853 i0ll gblsoll (09

For stressed syllables, the Mid vowel is that which you hear in “*Shut Up.”
Shut Up  aelS gloww suce sauiwll glhsodl 8 &S Jlo

The same sound, in an unstressed syllable, is the famous “Schwa Sound,” which all
English vowels very sneakily a..d> mutate 9= into whenever you don’t bother to
put syllable stress on them.

WBg,20) SChWa weo B33uiw el gblioll (8 ddawgll @)l We,=) sdaalll waall Luss
gizeol| ghasall aanis pll Il oSu o) s (8 @sdssVl el Bg,> JS duwls oz il
Loade s

It's the sound of the first syllable in “about,” for one example.
about aolS o JgVI glhsoll (88 gouuww U5 Jlio
Roundedness

In pronouncing these vowels, your tongue can’t do it all alone; the position of the
lips is also a consideration.
JSiw W=l kel o vl Seid awlwl 9> Uleli Ul idl B =l 0id bhal Juc

Compare “See” and “Sue.” Both have High vowels; “"See” has a Front vowel and
“Sue” a back vowel.
9 @uwolol alc lpoa) See  &dle ale WVg,> Uhg=s logsl bW "See” and “Sue” &, soy
auals Lpide Sue
What else differentiates them? Gkl 9o o
Cesdlo)

It's the lip-rounding; for “See” you pull the corners of your mouth back tightly while
for “Sue” you round them into a nice little *O”
Sue aolS 9 losw . uisaid| ddawly walzl) poll Llg) waxaunss Seed 1 uiaidl Gladl Lpsl
Lopods a5 0 8,5 JSiw @dl> il JS
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Hint:

All vowels involve free passage of lung air through the upper vocal tract.

»> JSeiw asgall olgasll (Sl guis )l poslopdl j9 00 wxrgiws &l Bg,> JS

(This is what distinguishes them from consonants, for which, as you began
to see in the last chapter, there is always some obstruction above the level of the
larynx).
Bo,2dl Ul Cus « dsuzall Bg,=lg alal Bg,> o Byl Jioy Sl [id)
999 clgpll HLad (s3> sl el 8 wlas)l gobudl Jasdl (58 LS ,c oS axu=all
(8,2l Sgsiuo

The impediment to the airstream for vowels is located at the glottis, not in the
supra-glottal tract: the vocal folds are in close enough contact for vibration to occur.

ol loze Boall ol cowdy Hlojoll Olud 9o @l &= (silggd! ,Ladl sle
Aggall olilaVl S a8 @ 800 R85 Ayigall

The sound wave that this generates is amplified by the resonance of the cavities

above the larynx.
izl B9 gzl e slall Saall paii 8 slall dugall asgoll

Hint:

This means that vowels are normally voiced: “normally” because voiceless vowels
are a possibility — they can best be thought of as whispered a.wgopo Vowels.

oo WY "saub JSiu " tacsoiwe Ao b wseab JSuiu alall Bgy> Ul (susy 1is
dLwgopo e Vg)> lpude sl =)Vl sle - adgo V ale Bg)> skl (Sl

Although the vocal folds aren’t actually vibrating for these, there’s still sufficient
constriction at the glottis for the airstream to be impeded and for turbulence (i.e. a
sound wave) to be
generated — you can feel this constriction if you say a few vowels in as loud a
whisper
as you can.
sl VI cadgall oldall (88 Olilud] s V awgopoll Wg =l 0id Ul o p,Jb
"L VI" UgSi Gz (silgpdl Ll ddlel 9 Gwlizl (o S Hlojoll die Lolail waxd
Ayigall a>g0ll
)38 sJle uogs W =l 0 Lasy (gl dic Lol ligy pwlwsYl eisoy
oSl
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VOWELS

They are sounds in which there is no obstruction to the flow of air as it passes from

the larynx to the lips

05950 ic slggll ;L @8lel ol sl Jlid weSy 0l Ve 8,5lall GlaoVl wd sl By ,>

They are classified on the basis of a close-open and front- back diagram.
@l -duolol 9 d>gido -délso 1 yuwlwl (sle Vg =l 01D Ciouud

Vowel chart

VOWELS
Front Central Back rounded/unrounded
. palr) ®u,u:
Close 1 u (contrastive vowel
. length indicated)
@1 (diphthong)
Close-mid € —_— " e 0
unrounded vowel
abeled on left) ‘ 0 Y
(rounded vowel
Open-mid - R ) ) labeled on right)
Open av A— D
x

Where symbols appear in pairs, the one to the right

represents a rounded vowel.

oi ou

ec ek

oc A
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e | -

Mun.ualo. ‘%hbfl. ool

\
<« olrcaq o BAIE@ B o

= ]
@\nng vowela “ Ca\rnn(?) S

Mﬁd—>, _ /_EA? =\ 1/

nee o . (/nf-'d/

; Sreo >/ Bris f

T e meat olmiz{ /
mee 1 s fmist /

—»path | foa:0/

Classifying vowels is in large part 2 matter of specifying tongue positions. Here is
the diagram for heed (i-type vowel). The surface of the tongue is high in the mouth
— close to the hard palate, but not close enough for the aiflow to be impeded, which
would turn the vowel into a consonant.

Flg. 7 g5 ———\'. heed

[i] is said to be a high vowel.

&390 Waxi (sl csewlwl JSiin soiey dell B> puuss
oo © (als)l Bo,> oo i £99) heed anlS) oMl JS_idl .ol
o 6y codall dizdl aaw o)l psll 51> gaire L
uxo By> (sl dell B> Joxi <lgpll HLi samd SOII a8l
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For had, the tongue is low in the mouth — almost flat; the mouth is much more open
inside than for heed.

Fig. 8

- had

-

—
! ugeadly '

[a] is said to be a low vowel.

oo padl S a8 s — pall J3Is jassio gy wludll  had aeds) auwadl
heed aolS ¥ aio S| ;08 J=I1al)

Long E Sound

lEw

g
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a1 | B Ty A—

; - POUY‘ -
: tual K S TRt
i rhnughf _»Jbn:t /
o Ju-/ . e fuse s Je®iun7
> 1 va
Seu —»1Su=p/
PnoL 5 [pu=l !
(= ,/?:,/ ﬁ}_(z\\rl s/laa--1/
hirol ;/h?;rd/
eartih »l3se [

Now the [u] of w/hed is also a high vowel. What makes it different in quality from
[i]?

Fig. 9

Jiow S bo .(eiye) e dde B)> Loyl (s "Who'd "aalS (s8"u ™ JI ol bx>\s
Nl Gwe i weall aucgi (09 OIS VI
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Fig. 10 _
[i] high + front [u] high + back
fa] low + front
9\ /?}D/ _;(’cx!’ +,/}<ap{l

hat y Jhatf

Ry //\/L - but »f_b/\ ——
qua. ,#g_a_u#__
duck #d/Lfi;_L._
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5 ,/ m// - olncj; > ,/’/d 0g /
chop »Lfop/
et ronn s lotrnn |
) 7 JI
s I/'U;/ > pud s [Pt/
heo ks » [ bUKs/
"\OX ,v__’[ b?rl(ST/ -
1_/3/ saplay | Japlel |
agaun » {2ge1n]/
T ¥ T
OQ'PP{\ }’/aﬁ,H:p/

apartm eat »Jopasrtmant/

strut
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Aag) 5 jualaall

: ot A
Where symbols appear in pairs, the one to the right ok ea

represents a rounded vowel.

(rounded/unmunded
\el (diphthong)

(contrastive VO\;IE
length indicated)

<]

( nded vowel
labeled on right)

Again without looking at the text, say whether the following statements are true

or false. Correct any thar are false.
a. [a] is 2 high back vowel.
b. [i] isa high front vowel.
¢ [u] is a low back vowel.

d. [a] is a low front vowel.

Practise using the altemative terminology:
a. Which is [i], open or close?
b. Which is [u], open or dose?

C. Which is [a], open or dose?

Match the articulatory terms in the first column with the descriptions in the

second column

a. low “surface of tongue raised towards hard palate”

b. open “tongue advanced”
c¢. front “tongue retracted”
d. high “narrow oral cavity”
e. back “tongue flar”

f. dose “wide oral cavity”

unrounded vowel
abeled on left)
rou Wi

10



dsalall 5 paladll

Elements of the Lecture.
10,0 l=xoll Lolic

Short & Long Vowels with Diagrams o9 pow) &0 8 madlly alyghll o)l Bg,>
Diphthongs, lolesV
Triphthongs & Glides
35S ol ax>lg de V)= Weo sl A>lg glhdo w9 Rouz B>l W) laus =Ll
Phonetics
The Study of the way Humans make, Transmit, and Receive Sounds
WlgoVl sali 9 Jlw)| (0955 8 UiVl aay,b awl)s 98 1oligall ple
Phonology
the study of sound systems of languages
wlel) igall pladl awl)s
Phoneme
A phonological segment that can be phonetically predicted by a rule
¢ 8520 818 JM> o gy gl Sy 4ig.081>9 s :pwigall
— /b/ in bitand /p/ in pit.
PIt s9/p/ pwigd 9 bit 53/b/ ouigd :Jlio
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The Organs of Speech and Articulation
bl uasidle pMSJI slacl

THE ORGANS OF ARTICULATION

The diagram shows the anatomical location of the vocal organs involved in the
description of English vowels and consonants. It is not a complete representation of all the
vocal organs - the lungs, for example, are not shown.

Aadl Cog g (055 3 AL A6 gaall lime DU Ay 50 ) gl maca g olia) sl 3Rk puail) pliac)
(e landl/ Aaal) ¢ guall #LEY) A peall sliae V) paen Jiad olial ane )l 4 sulaiD dapmall Cig jall
ool o G ) e Taa3

Y

nose

Elgglajltoli.ﬁl;\” o5, elisdl
upper tee
PP soft palate (velum)

alveolar ridge

@RA—M%SQ.LL”

Ll 8lacdl
upper lip > 3 4 l=ll 8l
——uvula
lower lip ——
el 8laadl
——— pharynx
py=lll

ol

lower teeth

Slosedl wlud
glottis
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- Languages are made up of vowels and consonants sounds
(wwlgw) du=o B)>lg (Wilgw) de B>l o wlell Uesus

- English consists of 44 sounds (20 vowels and 24 consonants)
(au=xall Bg,=Jl Weo YE g dlell B9, Weo Y+) Wew L& o WS &yl

Vowels
al=ll W9 ,>
- Most vowel sounds are modified by the shape of the lips.
alell glaso bhal dic LpISiig dlaidl &S, Jaes aell We,> bl o axslll wlgoVl el
(rounded / spread / neutral)
(neutral ayl=xo /spread lwuiog dioo frounded csw, 8 wsal>) lasadl JISwl o s aJlll

Sounds are made by vibrating the vocal cords (voicing).
(voicing (&u,e>) & wlgol lpic auw) avgall Izl (88 Ol axs ,1ai lgoVl
Vowels can be
sVl LoVl de ol ol oSeu alsdl g,

single sounds — monophthongs or pure vowels
S ol jug=i Sl o Al el B> gl W =l @l -85 580 Wlgol
Double sounds — Diphthongs
WlolesWI -a>9550 wlgol
Triple sounds - Triphthongs
Jawo dle wWeo (p9Si gouxs e Wg,> asli — as\i wlg.ol

Pure vowels usually come in pairs consisting of long and short sounds
& 009 Q|9Ao| 9 alugb Wlgol o UgSo 295 9 il aSlol Sl o anllzdl alell g ,>

This is found in the word
o tea. The lips are spread
M

and the sound is long

20a8 Allad) oda S teaws‘;uswduu\u)@\&mm
Jish G b sl

ol Qg gzl g laaad JB1 (sl o) Laadt hjp el A L

This is found in the word

hlp The lips are slightly

] Q spread and the sound is
short
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The tongue tip is raised slightly at the front towards the alveolar. In the longer
sound the tongue is raised higher.
e i)V uludll aioy Juskdl weall s (08 o] olxib oloVlg (sdeM sioy wludll @oaso O,b

el
The most common sound in English — the Schwa
Schwa JI -a; =Vl aglll (s 5Vl wlgo VI

oall slsl e el wgall jo, @
sladl gog Wliaidl o3l Lo
Trxd (sdtl> Vg (sbluwslV)

@ e gl

o ¢ paper, :asVl lolSl xd iz
9 Loyl a>g95 oS « over, about,

@l (9 darenll JledVI

This sound is made by relaxing the mouth and keeping your lips in a neutral position and

making a short sound. It is found in words like paper, over, about, and common in weak
verbs in spoken English.

9 (392100) Jughll weall 50, 9o 3!

Schwa wgo
3 thirteen wlodSJl 59 LS gouun
4

s < ; 5 o pall ol >\ . birds
j bl gy b Ol

This sound is the long form of the schwa sound. It is found in words like th/rteen and
b/rd. The mouth is relaxed and lips are neutral.

wp, cut & 1olodSIl 8 gouw 9 sy S juas)l wealljo, 9o A
htter

v QjThis Is the short
sound — uwp, cut &
//)

Q‘@f\ utter

car, fast & -9 goww 9 iy WS Jushll weall 0,90 @
dark

This is the long
Ya CEsu:::und —car, fast &

dark
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The centre of the tongue is raised towards the soft plate, the lips are neutral.
.JL\;“ GAJUUSJ\(‘;)XSLA&AP)S\ gﬂ;;\\a\;;}ah@c&ﬁfum‘u}&“s/\&auusﬁjl de.LA.Cb“J

s,

B

<

The long sound -
you,too & blue

you, too & blue : s WS Jigb weo 30, U:

Good, would & wodl : 59 S ;a8 weo jo, U

’ "‘RM & The short sound —

Good, would & wool

<>

The lips are rounded and the centre and back of the tongue is raised towards the soft plate.
For the longer sound the tongue is raised higher and the lips are more rounded.
wi>9 ;S ,oll aie o gaiye Vludll 9 sibl> Rog WMSLEG Vel (wgall s o9
9 lelas)l S| weSy Ll Jughll waall s (58 .93l clizdl olzil sadzdl 5=l
bolowasl LS| wlia il

O Made with rounded lips and tongue slightly raised at the back

Judd JS i 2550 WeSy Vbl Ol > 8 asl> JSii o Guitid] puo e 26l weo O
FENICY | IPSTS | X
The long sound- door, four & more
door, four & more -olols)l b 9 LS (aodl) Jushll weall
The short sound — haot, clock and what.
haot, clock & what - oSl 08 gouw LS shiy juasll weall

o /\"8 DD
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Two of the vowels do not have long sounds
(Jusb) 2o weaS UleowwY obsl alsll s8,> VS Ul >\

S

- S -
J “

This sound is made with the mouth spread wide open. It is found

in — cat, man, apple ran

- =

- The sound of ‘e’ is found in — wet, left, when & tell. Like the sound for ‘a’ it is a short sound
that has no long version.

9 'a’ oeo ali ‘e’ wes . wet, left, when & tell ~olodSUl (58 gouw '€ coall -
(20) alygb ale Jioy )3l axg lp) s 85008 Jlc LopisS

cat, man , apple, & ran-llS) 8 oy

- The vowel sounds we have just reviewed make up the rest of the diphthongs etc. that come

next.
9 Syiw oS gdl.... 459550l wlgoVl o a8l asdl UeSs il d oMel 8,95 doll dlell Wigol
RN o]

Diphthongs, Triphthongs & Glides

- Diphthongs are combinations of two sounds-
wigo ghial (zuid >W ledasl go JiVl) puise glosizl csisi (A>9350) 8, &5L5 -
Ao
English has 8 diphthongs ’
a>9550 Wlgol A (Soxi &5Vl
- Triphthongs are combinations of three sounds-
Olgol OM gloix| uswi a9,>Mll -
English has 1 triphthong (a diphthong + a schwa sound)
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Glides are sounds made when the tongue moves from one position to another.

(ul=odl weall) Schwa weo +B8,> 29330 Wew) A>lg B> s & =)
»V (g0 8990 o Vlwdll &S > o JShaws wlgsl e SLleuws Il gl BBV

(5] ala) 5] g8g0 (Wl Lo dle B,m (sigo 8350 ro weall Jlawl aic)

&irw T30 s UGST AIPALRONG 29550 yuisy § B,> 0l as\ kite aalS o 1 S\ 9d Jlo
HBYHIL By b 9 cwisall 230) guydl JasVl s . 79 @ ©oal

: ,\}
<> 5t
(?ja .

> ﬁ\\>

=

l

¢
. = T

7 o

v

Here we have three sounds;
The sounds from 1) for 2) tour 3) go

oy OU ( towr & poor (9 gouwy UO ( for & doorsd oS goouwy I
go & no 9

Two of these sounds are diphthongs, combinations of vowels.

2 ) Jie lin dle 1 e (0 AS g0 (V&Y 2;53)'4@&\}.4‘\1\ oM (e (U
long vowel

Diphthongs are made by sliding the tongue for one
position to another - this is know as a glide.

S & se G Glalll B3 (a7 59 3all i sall
- LB Y i AS jall ska - AT )
I

o /e—? CIQ

This diphthong is found in — hay, date, scrape & vem.
hay, date, scrape & vem : wlolSJl (59 asocws €I z950dl el
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o

—
S -

¢

Here two more pure vowels are combined to make a sound. This sound is like saying the
letter ‘O". It begins with a er (schwa) and moves towards the ‘00’ sound found in good.

boasc ligaS weo guid (er& ‘oo’) ac B,> gy (go, NO) VI woo Olas>Y

weo shi ggal Jaiis pi schwadl er (ghis ol &ladl 0sSs .0 B =l s
good aolS 9 gg9ouunll ‘00

To make /auv / add a short / u/ after the long / &/
sound.

T /a/

’ae/-u\\ ¢
o1 <>

. Jee/ ol dle Uiy as /6] pmas)l dall b Wils /as/wgall gSi

/avu/

Words like cow, down, ground and town all contain this sound.
(The a:is also used to make this diphthong)

/av/ oeoll Sgxi lpewe> cow, down, ground & town Jio wlolS
diphthong/838/ 2930l el ol olesVl 0oS7 (59 J5u 15 Lad a2 weall
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Diphthongs are combinations of pure vowels.
a.t | =al -tie buy, height & night 4
e+ | =‘el-way, pad & gate 4
0.+ | ='Cl-boy con & coy ¢
e+ 9= € 9- where hair & care ¢
¢

| +8 = 1| 8- here hear & beer

réuiy ale W, > 2wd Lo USSH (a9 o)l wigoVl) wlelesVl

tie, buy, height & night lolsJl (8 a1 gowws a: +7=al
way. Pad & gate wlodSJl 9 €1 gouwy € +1 =€I

boy, con & coy % ClI gouy 2: +1 =ClI

where, hair & care 9 €9 go.wy, € + 9= €9

here, hear & beer 9 19 gouy 1 +2=19

Review all 8 sounds and try the exercises on the worksheets

N otes
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Phonetic Transcription

The Meaning of Phonetic Transcription

ragigall LSl Csuso
Phonetic transcription (or phonetic notation) is the visual representation of speech sounds
(or phones). The most common type of phonetic transcription uses a phonetic alphabet, e.g.,
the International Phonetic Alphabet.
aggall (OUSal) )el35W ((s950) 05190 sepogi Juiod 38 (csisall (ueadl) dvgall %Lﬁﬂn
. A >
(adsapellell agsall aslalVl Jio dgsall ailalVl pasiuws dbgall LS glyl ool

PULMONIC CONSONANTS
(augiJl) asolall Vg =l
Bilabial Labio- Dental | Alveolar Post- Retroflex | Palatal | Velar |Uvular|Pharyngeal | Glottal
dental alveolar
Plosive p b t d t d c} kg|q e 7
Nasal m m n n n n N
Trill B r R
Tap or Flap r §
Fricative ¢ p|f v|6od S J 3|l Z |cj |xy|xs|/h § |h A
Lateral
fricative 1B
Approximant v 1 4 i W
Lateral | L X .

approximant

When symbols appear in pairs, the one to the right represents a voiced consonant. Shaded areas
denote articulations judged impossible

oo allbol| bl .(Egomial]) Srp2ll G2l Cgo e Jus prod o sopl cdzgsi0dl igorl) dpnnidl
il lpshi Ol Yoz il Slpoll 5o Jorzl
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NON-PULMONIC CONSONANTS

© Bilabial

| Dental

' (Post)alveolar
:|: Palatoal-veolar

| | Aveolar- lateral

Voiced implosives

b Bilabial

d Dental/alveolar

I Palatal

g’ Velar
G Uvular

Examples:

Bilabial

Dental/alveolar

Velar

Alveolar fricative

CONSONANTS (NON-PULMONIC)

Clhicks Voiced implosives Ejectives
() Bilabial Bilabial Examples:
B
| Dental d Dental/alveolar p Bilabial
1 kS
! (Post)alveolar ‘:F Palatal t Dental/alveolar
»
:|: Palatoalveolar g Velar k WVelar
~ »
‘ | Alveolar lateral (:1 Uwlar 'E; Alveolar fricative
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lgall of @)l Bg,>

VOWELS
Front Central Back
Close 1 y e 1 e U——UWe U
O
Close-mid CoPd—— 99 O——YeO
o
Open-mid cae— 3\8 — A®D
e
deE A— Qe D

Open

Where symbols a;q}ear in pairs, the one to the right
represents a rounded vowel

(4

There are two “golden rules” for transcription:
raggall @Sl uliuas ubiacld s

1- Think of the pronunciation, not the spelling.

O lodsJl dixpi N9 yadg (Sl shbui wausS) bl 9 jusaill G=oi Ul Ly

Instead of letting yourself be mesmerized by the written form of the word, look away, or
close your eyes, and ask yourself how you actually pronounce it. Among

a thousand other pitfalls, this will help you to avoid inserting an [I] into
your transcription of salmon, it will ensure that you transcribe the s of

his with [Z] not with [S], or the fof of with [V] not with [f], and it will
prevent you from including the silent b of doubt in your transcription.

o s Jlwl o5 ciluine panel gl JbU aed Ul Jol> caodSIl LS JSeiw S5 Vgleo sy gz 0l Loy
aLSUI) 9 9 L W8y> 2hhsl cozsi Ol el o @syylall 048 (lpyd £999)l Sl WY GOV s o

[2] B, his @odS 8 [5] JI &,> cdasiwl &bl oo 3Sliw dap,hall Guai Loyl .salmon*  aalS) (auig.all
e doubt aedsJl &S aice b o SLudl Ozl &lS (o dleisiw Layl .[V] &)= Of aolS (o9 [f] B)>9 «
wsvgall

. /sameny _shi Ul (s oS gl dbgilo] dolSI] wlS s salmon dol dvgall @l *:pusgi

3
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Use one symbol for each identifiable sound.
e WV, lkio Lo JSJ A>lg o, pasuiwl

- In many cases, the orthography (i.e. the spelling system) uses more than one letter in
cases where a single symbol is required in a transcription:
ps, sh, ch, tch are cases in point.

g0 30, pic e il GV (08 B> o S| paziu (Aipid] bowd) Mol plos (OVIRI (o S (89
Auigall GLSIl ae a>lg

ps, sh, ch, tch :aliol
/ fit)iSi auiguall sU JYU she @ols sh = [ :\io 65,80 il oMel gbliol) &igall j90,! (ouoss

- And a transcription, though it may be shorter, can convey more precise (ad:JI gJL)
information than the orthographic (slxgJl 9 <MoVI) form (the spelling): th corresponds to
either [T] or [D]) and the notorious (osguw v ,9priodl) -ough to [Af], [u:], [3], [av],
[aw] or [pf] (enough, through, borough, bough, although, cough).

au8,S e o9l )90 9 @885 Aogleo Jogi lpil VI (108l 6,9.00 Al LS5 Lpil oo ptylbg auigall @Sl
alSl asMoVlg alspdl GUSIL Jai il el oo wlodSUl (xd oyl 2ly5ls sk

sVl se0,) 33U ough (anli (s asyb p3LY @V cosendl sopainoll) glasolly [D] ol [T] abils, th glasoll
10Ul wlodSIl (58 @il o

(enough [Af], through [u:], borough [3], bough [aw], although [auv], cough [pf])

Broad (as.wlg) and Narrow(as..o)

ulegs ((igall Guull) adgall G LSl So=i
A80 g0 QLS 9 Anysc gl dzwly digo LS
-  Broad transcriptions
« Represent only contrastive sounds (phonemes)
»  Enclosed in slashes: / /
«  Generally use only alphabetic symbols
rasawlgll auigall auisll
lowgell dwlwVl dsgall 550, Jiod
/] ool Gudasdl @oMe G bo 1590, iS5
Jnad @505Vl 590,01 paziows el 8
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- Narrow transcriptions
« Represent phones
«  Capture as much phonetic detail as possible
« Enclosed in brackets: [ ]
«  Can require use of diacritics

0 o i) aigall 90,1 9 Bgy=l i gl (e S (1) Jio aiSiis wlS)> (s Diacritics
1qinal| auigall & LS|

wlgoVl Jioj

(sl wlowisall puai Lanl) aigall wlasgll Juoles ¢ro uS ;38 lassdls

[] owwsd w raxi j90,0 S

adgllo e S olS,> plaguwl (e 29

Broad and Narrow Phonetic transcription

Broad phonetic transcription: captures the basic sounds; What the speaker intended
to say; roughly egivalent to a phonemic transcription.

Narrow phonetic transcription: captures the precise pronunciation; what the speaker
actually said; makes use of the full resources of the IPA.

Notational convention:

Slashes / / for phonemic transcription

Square brackets [ ] for phonetic transcripton.

English Phonemes

Familiar IPA symbols, same sound:

1. [p] ‘pot’ 7. [r] ‘rot’ 12. [m] ‘ma’
2. [b] ‘bought”  8.[f] fought’ 13. [n] ‘not’
3. [t] ‘tot’ 9. [v] ‘vote’ 14. 1] ‘lot’

4. [d] ‘dot’ 10. [s] ‘sot’ 15. [w] ‘walk’
5. [k] ‘kit’ 11. [Z] ‘zit’ 16. [h] ‘hot’
6. [g] ‘got’

Sound/symbol correspondence
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enough through thorough thought bough

[af] [u:] [a] [0:]  [av]
think those  thistle thong
[6] [6] [6] [6]

church  chemistry Cheryl

[tJ] [k] [J]

English Phonemes

Familiar IPA symbols, different sounds:

17. [j] ‘yacht’ “yod”
18. [i] ‘heed’ @
19. [e] ([e]j]) ‘hayed’ @ ([ej] = a “diphthong”)

20. [a] hod @

CRCNCICHC)
POLBOHHL
POLBBHB

21.[o] ([ow]) ‘bode’ @ ([ow] = a “diphthong”)

22. [u] ‘who’d’

A diphthong is a phoneme that combines two phones.

Unfamiliar IPA symbols, for consonants:

1(Cwlgwall) asuoll Vg =) 65LadI IPA j90,
23.[6] ‘thought’ “theta” 28 [tI] ‘chop’

24 [6] ‘though’ “edh” 2[d3] et
25 U] ‘shot’ “esh”

26. [3] ‘vision’ “ezh”

27. [I']] ‘ring’ “engma”
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Present Past Participle

Am —is —are Was —were been

Beat—s /bi:t/ beat /bi:t/ beaten ['bi:tn/
Become —s /b1 'kam/ became /b1 'ketm/ become /b1 'kam/
Begin—s /b1 '‘gin/ began /b1 ‘geen/ begun /b1 ‘gan/
Bend —s /bend/ bent /bent/ bent /bent/
Bind—s /baind/ bound /baond/ bound /bavnd/
Bite—s /bait/ bit /bit/ bitten /'bitn/
Bleed —s /bli:d/ bled /bled/ bled /bled/
Blow—s /blou/ blew /blu:/ blown /bloun/
Break—s /breik/ broke /brouk/ broken /'brouken/
Bring—s J/brin/ brought Jbro:t/ brought /bro:t/
Build—s /bild/ built /bilt/ built /bilt/
burn—s /ba:rn/ burnt /ba:rnt/ burnt /ba:rnt/
Burn—s /b3:rn/ burned /b3:rnd/ burned /b3:rnd/
Buy—s /ba1/ bought /bo:t/ bought /bo:t/
Catch-es [keetf/ caught Jko:t/ caught Jko:t/
choose —s Jtfuz/ chose Jtfouz/ chosen ['tfouzon/
Come—s Jkam/ came Jkeim/ come Jkam/
Cost—s Jkost/ cost Jkost/ cost Jkost/
Cut—s Jkat/ cut Jkat/ cut Jkat/
Dig—s /dig/ dug /dag/ dug /dag/
Do—es Jdu:/ did /did/ done /dan/
draw —s Jdro:/ drew Jdru:/ drawn J/dro:n/
Dream —s /dri:m/ |dreamed | /dri:md/ |dreamed | /dri:md/
Drink —s /drink/ |drank /dreenk/ drunk /drank/
Drive —s /dratv/ |drove /drouv/ |driven /'driven/
Eat—s Ji:t/ ate /e1t, et/ |eaten ['i:tn/
Fall —s [fo:l/  fell [fel/  [fallen ['fa:len/
Feed —s [fid/  [fed /fed/ fed [fed/
Feel —s [fi:l/  [felt [felt/ felt [felt/
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Fight—s /fait/ fought [fo:it/  fought [fo:t/
Find—s /faind/ [found /faond/ found /faond/
Fly — flies [flai/ [flew [flu:/  flown /floun/
Forget—s /fer'get/ forgot /fer'got/ forgotten | /for'gotn/
Forgive —s [fer'giv/ forgave /fer'ge1v/ fforgiven 'g{ f/eern /
Freeze —s [fri:zz/  [froze /frouz/ [frozen /['frouzen/
Get-s /get/ |got /got/ |got /got/
Get-s /get/ |got /got/ |gotten /'gotn/
Give—s /giv/ |gave /ge1v/ |given /'given/
Go -goes /gou/ |went /went/ gone /gon/
Grow —s /grou/ grew /gru:/ grown /groun/
Hang—s /haen/ hung /han/ hung /han/
Have —has /haev/ |had /had/ had /had/
Hear—s /hioer/ |heard /hz:rd/ |heard /ha:rd/
Hide —s /haid/ hid /hid/ |hidden /'hidn/
Hurt—s /hz:rt/ hurt /ha:rt/ |hurt /hz:rt/
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Keep —sa /ki:p/  |kept /kept/ |kept [kept/
Know —s /nou/  knew /nu:/  known /noun/
Lay —s /ler/ laid [lerd/ |laid [lerd/
Lead —s /li:d/ led [/led/ led [led/
Learn —s /I3:rn/  |learnt /Iz:rnt/ |learnt /Iz:rnt/
Learn /Ia:rn/  |learned /Ia:rnd/ |learned /13:rnd/
Leave —s Jli:v/ left [left/  |left [left/
Lend —s [/lend/ |lent [lent/ |lent [lent/
Lie —s /lai/ |lay [ler/ |lain /lein/
Lose —s [lu:z/  lost [lost/  lost [lost/
Make —s /me1k/ |made /me1d/ made /me1d/
Mean —s /mi:n/  meant /ment/ | meant /ment/
Meet—s /mi:t/ met /met/ meta /met/
Pay —pays /pe1/ |paid /peid/ |paid /perd/
Read —s [ri:d/  |read /red/ |read [red/
Ride—s /raid/ |rode /roud/ ridden /['ridn/
Ring—s /rin/  |rang [reen/  rung /ran/
Rise —s [raiz/ rose /rouz/ risen /'rizen/
Run—s /ran/  ran /reen/  run /ran/




Teach—es | Jtitf/

: Tear—s | [tear/
Tell—s [tel/
Think-s | /81nk/
Throw—s /Brou/
‘Understan /ander

| d-s 'staend/ |
Wake —s /weik/

: Wear—s /weor/
‘Win-—s /win/
Write [rait/

bl 5 yoalaall

‘taught [tot/
:tore - [tor/
told | [tould/ |
‘thought /0a:t/
threw /Oru:/
'understoo | /ander
d | 'stod/
woke /wouk/
wore | Jwor/ |
won /wan/
'wrote [rout/

'taught [tot/
itorn . [torn/
told | [tould/
thought | /Bot/
thrown /Broun/
'understoo‘ /ander |
d 'stod/
}woken | / 'wouken/‘
‘worn | /worn/ |
won /wan/
| written ['ritn/

Remember: a word in isolation may be spoken differently to a word in connected speech

to = [tu:]

give it to him =[giv 1t to 1m]

N otes

10
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Syllable Structure in English
Lets study it...
Wl VI 59 anbaalll gbliodl aulsud
Lpiwl ) pgstid

What Does Syllabification of a Word Mean?

- Words can be cut up into units called syllables.

- Humans seem to need syllables as a way of segmenting the stream of speech and giving it a
rhythm of strong and weak beats, as we hear in Music.

- Syllables exist only to make speech easier for the brain to process.

- A word contains at least one syllable.

CanlSl csdos . _ )

sl gblin (oo dudhs) Olasg (ol GladSl &35 Sy -

olelal anw aslhacly Llasdl im0 &5z dlwsS audaalll ghblaoll (ol zlizy ludll -
diwgoll gloaw dic Jl 98 oS Aaunsg augd

£ Lol alawly Llazdl ésdlee Jpusd csowlwl JSoin wamg adaalll gblaoll -

J3VI sde sl ghdo Sgixi aolSIl -

Most speakers of English ...

- ...have no trouble dividing a word up into its component syllables. Sometimes how a
particular word is divided might vary from one individual to another, but a division is always
easy and always possible. Here are some words divided into their component syllables (a
period is used to mark the end of a syllable):

- tomato = to.ma.to
window = win.dow

- (some people might put some of the periods in different pIaces in this word).
VU b lll el

walizo 38 @l oo pe )b adaalll ghdlel] oo LpibgSe (sl ladS)l puuss (89 dugeo Ugp=>lg V
LS Lol (sdaalll gunaid] 1aue i oS 3V Lates oo @odSl juad adaalll ghblaoll puss
Llol sde

(&hso JS clpsl (sle Jus aaaill) adaalll lpeblio (sl GlodSIl caomud oMel oulliodl (59

Syllables and their parts

- The parts are onset laiuo and rhyme &slall ; within the rhyme we find

the nucleus and coda.
- Not all syllables have all parts; the smallest possible syllable contains a nucleus only.
- A syllable may or may not have an onset and a coda.

> 9 audball gblaoll

9 ul.a.>XJ| J-CINE ) (peak) LSO o|9.v A>q) a9kl I a,8l8 9 |.Lu.o UL u95.o ;s\Ja.o.Ul &la.o.oﬂ -
‘ .ol glaso

1nsd olg (So (sas) ghio yeol (shaalll ghsoll 58 <3V JS 3929 byiiuV els go -

.(coda) aslall  solizl glasoll g lniuell Sgz V gl ez 16  sbaslll glasoll -
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Onset (O)

- Onset: the beginning sounds of the syllable; the ones preceding the nucleus. These are
always consonants in English. The nucleus is a vowel in most cases, although the
consonants [ r], [I],[L m], [ n], and the velar nasal (the 'ng' sound) can also be the
nucleus of a syllable.

- In the following words, the onset is in bold; the rest underlined.
read
flop
strap

0) ixiuoll

0l 8lgi s Sl £33l fshasalll glasoll (59 &gommall woall &l ga laiwell -
G,>) Wil W,> asdlall blg UeSH louw . (Gouall Bg,=l) wwlgall o WSy Ladls a5Vl (88
38 (NG weo) sbil-silll weall g [r], [1], [M], [n] aslall g,z ol V| Jlg=VIl Llél (s (ale
] audlall Blgs WSy

Loz oo bz aedSdl asy (i bosws (STl gL ool ¢ oMel wlodSJl (08 -

If a word contains more than one syllable,
each syllable will have the usual syllable parts:

win.dow
to.ma.to
pre.pos.te.rous
fun.da.men.tal

Rhyme (R)

Rhyme (or rime): the rest of the syllable, after the onset (the underlined portions of the
words above). The rhyme can also be divided up:

Rhyme = nucleus + coda

ohl%yl&@wwww

o bos ding il glasoll) Tl a2 osdaalll ghaioll (o W £33l (sd 1(rime) auslall
Il ooy Ll @,8la)l . (oMel wlolsUl
adll plis+ slgdl =auslall
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Nucleus (N)

Nucleus is the core or essential part of a syllable. A nucleus must be present in order for a
syllable to be present.

ol 93 8lgill s9>5 . sbaslll ghsoll (JMudl) (58 sl Vs sowluwVl 63zl o 8lgidl -
aJSIU ghisoll 5959

In English and most other languages, most syllable nuclei are vowels.

(0lslo) ale bgy> weSi shalll ghiol) el phaso 5,5Vl slalll plaso g @pl=sVl (28 -

The English liquids asiloJI [ r | ] and the nasals &l [ m n ] can be the nuclei of
syllables under certain conditions. [ r ] can be a nucleus as easily as a vowel, in any
position: the words ‘bird’, have [ r ] as the nucleus; in other words, there is no vowel in the
pronunciation of these syllables, even though they have one in the spelling.

[brd]

asiloll o)l OlgoVI [r 1] awVls  [m n] vam w8 daslll glasoll slgil weSs 18
iszoll VI aolS els Jlio © gdgo Sl (58 wilo wlSg sleil g weS, 18 bird
B,> cuslr] (@sll) olal sg=sV @l sl (slgidl 9o [i] 0id 58 gblioll (shis losic
aalSJI[brd] anls) aubstl aimpdl (58 wilall s9=5 oe e, ([bird]

[ I ] and the nasals [ m n ] become syllable nuclei when they follow an alveolar consonant in
the last syllable of a word. This happens in the relaxed or casual rather than very formal
articulation of the word. Compare casual vs. formal pronunciations of ‘button’, ‘bottle’,
‘bottom’.

oSl (58 glasio ,51 s i) cuolo wls il losic glaioll 8lgs puas [M n] &Vl g [1]
cesocy )l ol 93 yusill (b @io S| (s yinuodl plell yusilly (sladl (58 Us &asu
‘button’, ‘bottle’, *bottom’. sasVl 0glll 8,95 iadl lolS)l s gl U,
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The Core Syllable
The core syllable is made up of a Nucleus preceded by an Onset:

N

O (nset) N (ucleus)

C Vv

Taodb @8gaandl 8lgl oo oS dubaalll gblaodl (58 sowlwl glasoll
DMel powyl (58 aogo 9 oS

Some languages only have CV syllables.

More commonly, languages allow for syllables of greater complexity.

The core syllable is, however, found in every language.

the fact that CV syllables are cross-linguistically attested offers an interesting parallel with
their invariable occurrence in early child language.

(V) cilall g colall ols gblaall (ale bhid Sgizs slalll oz -

lusss S| golao (g arowws wlell ple JSin -

wlelll gio> 9 39>90 sowlw) glhsoll loiw -

0 w0 Wjlgn 19g5 wlell jue alzlaie (CV) wilally wolall wls gblssdl Ul s8> -
a0 g 9 Jabll asly auls sg>9 wuwn plosa W

Linguists often use tree diagrams to illustrate syllable structure. 'Flop', for example, would
look like this (the word appears in IPA symbols, not English spelling). 's' = 'syllable’; 'O" =
'onset’; 'R' = 'rhyme’; 'N' = 'nucleus'; 'C' = 'coda'.

il gbliall oS leis) oSzl Juiodd] Usorzinglo WLE ousslll
ol « IPA pllas (s 890, uiSi andsl)t oUsl zuao 98 oS Jiad Jlioll Jw sl Flop
Blodl= "N’ a5lall= "R’ cslaisoll = 0" «Soa) ghaiio = 's' .(aysulzs Yl sMoYl (sd lpiizepiy
«solis glio='C’

The syllable node at the top of the tree branches into Onset and Rhyme; the Onset node
branches because it contains two consonants, [ f ] and [ | ]. The Rhyme node branches
because this syllable has both a nucleus and a coda.

[f] csolo ailou> Loyl £0m Laioll 4806 5 lisso Ul €505 8,2l puly 59 dunlasoll 152

oLl 8loidl WS (Sgiz ghasiall 1id 0V Laul ¢ ,05 adlall . 1o

o
/[ \
O R
I\ 1\
| | NC
T

[f Il ap]
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Steps to determine the diagram:

a. Determine the nucleus (N)
Add Rhyme ( R ) on the ordinate of the nucleus
c. Determine the onset (O) and the coda (C).

o

(N) ghioll 8lgi 52> (a
dlgall bs s ol g (b
. (C) anilzdl ¢ (0) Towell 52> (cC

The syllable structure analysis of the words 'read’, 'flop', 'strap’' and 'window' are
as follows (IPA symbols are used to show the sounds in the word/syllable):
‘read’, ‘flop’, ‘strap’, and Ol 9 duball gblaol) wasS il Jud=idl b lowd
ghbioll [aols)l o\ wigo V! puosil wwisiwl IPA ;90,J1) ‘window’

read = one syllable window = 2 syllables

Onset =[r] First syllable: [win]

Rhyme = [id ] (within the rhyme:) Onset = [w]

Nucleus = [ i ] Rhyme =[In]
Coda =[d] Nucleus = [ 1]
flop = one syllable Coda =[n]

Onset = [ fI]

Rhyme =[ap] Second syllable: [d o]
Nucleus = [a] Onset=[d]
Coda = [p] Rhyme=[0]

Nucleus=[0]
(This syllable has no coda)
< Notice >

A.If a syllable has the coda, it is called as closed syllable
Example : cap, sit, man

b. If a syllable doesn't have the coda it is called as open syllable.
Example : he, she, me

Sab>Mo €

Weo ghao sy 48l aoils (sde glhdoll Sgisl 13
cap, sit, man : .9 oS

coito ghbto (swuuw a9l anils (sde Sqixy pJ 3]
he, she, me : 59 oS
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Liquids and nasals as syllable nuclei

The English liquids [ r | ] and the nasals [ m n ] can be the nuclei of syllables under certain
conditions. [ r ] can be a nucleus as easily as a vowel, in any position: the words 'bird’,
'‘word', 'her', 'fur', the first syllable of 'perceive' and 'surname' and the final syllables of
'mother’, 'actor' (in casual pronunciation) all have [ r ] as the nucleus; in other words, there
is no vowel in the pronunciation of these syllables, even though they have one in the
spelling.

SVl Lass s saalll glasol) dlgl 0gSi 38 [m n] &Vl [r 1] asslodl @)l wlgoll -

‘bird', 'word', 'her’, 'fur' wlodS cls Jlio : 8350 Sl (58 wlo Sy slgil 9o WS, 18 [r] . éuusoll
w9 . ‘actor’ ¢ ‘mother’ (s usVl glhiolly ‘surname’ g ‘perceive’ oo JoVl ghioll (sd Layl

5928V @l Sl 51 sumosedlgdl @l ale [r] @ymdl Sgizs wlolSIl 6ia JS ooy mall sl

Sl @xpill 8 wilall 3959 e o b wolodSIl 0is 8 gblaodl sl boaic (alsl) wilal

[ I ] and the nasals [ m n ] become syllable nuclei when they follow an alveolar consonant in
the last syllable of a word. This happens in the relaxed or casual rather than very formal
articulation of the word. Compare casual vs. formal pronunciations of 'button’, 'bottle’,
'bottom".

aolSIl (58 gl ,51 (s Sei) cuolo wls (il losic ghaoll loy auas [m n] sVl g [1]
cosoowy)l ] 95 sl (58 Wio LS| (s il pledl jueilly (bl (28 S Gasy
‘button’, ‘bottle’, *bottom’. sasVl 0glll 6,95 iadl lolS)l (s gl U,

When one of these sounds is a syllable nucleus, this is shown in transcription by putting a
very short vertical line under the IPA symbol
[rImn]

Sxgoc b pawy @GS dic e G (ghioll blgi @990 9 WlgoVl 0id WeSH losic Wb aule

oMel zuogo 98 oS IPA J (sigall 50l =i jund
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Summary of the elements of a phonological system...

The phonological system of a language includes various units plus patterns which are
used to combine the units into larger units. The units of a phonological system are:

ST olasg ol wlasgll o> 9 sy iz blodl 9 aslixo WlA>9 (Sgixs Sgelll Wligall ol

el ligall plad wlasgll

1. features:

aspects or characteristics of a speech sound that arise from the way the sound is
articulated or the way it sounds to the ear.

'Voicing' is a feature that varies according to whether or not the vocal cords vibrate
during the articulation of a sound; the sound [ s ] is voiceless, but the sound [ z ] is
voiced, for example.

Other features include 'manner’, or what sort of gesture or position is used to make a
consonant sound (a 'stop' involves blocking the airstream completely for a fraction of a
second, as for [ p ], while a 'fricative' involves creating a narrow opening through which
air escapes, as for [ f ].

There are also suprasegmental features, which are 'overlaid' on syllables or words.
One such feature is stress, known outside linguistics as 'where the accent is in a word'.

In 'potato’, the stress falls on the second syllable; in 'promise' on the first.

iowlo 9 Uljwow )

b oo ol waall Loy Boliolly 2,28l Bkl o asll o MSIl wgall Laslas ol wilg>
03Vl (9 weall L ggoumnll B,lll

ehal g sl DM ozl agsall Jladl Ol coms iz zolo o8 szl el il
Jlodl Jurw (sle Syop> 98 [2] loiw S)9p> me o [S].Y ol woall

g0 23V Cwoaziwl g8lgel! gl WLLLVII o g9 Sl (sizos ‘manner’ ga s,V zwoMoll 3>
lais « [P] 2l >V bl JimW lolod (silspdl )Ll Slaul (58 pdliuwy "B989)l" ) wuolo
] I 09 S slgpdl Ll dio wypd (8ao dbin 3l (e acluy ISV

adhalll gblaodl (sJl Blai silll 9 suprasegmental aehio 998l wliondl Loyl cUla
9 . aolSIl (8 8 ,uudl Uy augel) el duic Vg 20l 99 Awiuidl oMol el s>l . wledsSIl ol
e gay yauadld promise’ aodS s bosw bl glhsoll duie gy il ( ‘potato” aods
JoV| ghioll
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Summary of the elements of a phonological system 2> > > > > > >> > >
2. segments:

a segment is a speech sound such as [ m ] or [ i ]. Speech sounds are made by putting
several features together. [ m ], for example, is created by vibrating the vocal cords
(feature: voiced), closing the mouth at the lips (feature: bilabial), and lowering the soft
palate so that air can escape through the nose (feature: nasal). These three gestures occur

simultaneously. The result is a voiced bilabial nasal, [ m ]. Thus, segments are units that are

built up from features; features are the building blocks for segments.
iasball gl )l .Y
leass go pailazlly aoMall wlixo gog: LS &MUl lgoVl . [1] ol[M] Jio (sl ©go (s
dic pall Slbl o(cs,9p>18500ll) abgall Ju=dl wljliial saa (Jbell Juw sde [M] . pasll
(sl 185000l ) @Vl JMS il oo slgpdl (uSoi) Gulll bl yaas « (Sgai 185unll) ucaall
b ghallb i . [Mm] ¢ eVl Seaill Sigpmdl waall 9o zuldl leo wazs ol LoVl ois JS

52l ol a=hsll L adll s d zroMolly Wliwowndl {wliuon 9 oMo JMS (o wdSLis wlasg
wswo MSI
D2D2DDDDDDIDIDDDD
3. syllables:
a syllable is a rhythmic unit of speech. Syllables exist to make the speech stream easier
for the human mind to process. A syllable comprises one or more segments; segments are
the building blocks for syllables. Details on the syllable are found below.
bl ghsoll LY
ol axdles Jpawd (sowlwl JSuin wazg adaelll gblaosl oMl (59 auclasVl da>gll 9o
Ul 8,953 S Juolas .S gl sdas) £5> (Sgizy sdaslll glasoll .S mindl Jsell adawlg,

4. words:
words are made of syllables.
oladsdl L&
Audhsl gblso o @gSo

The patterns or rule systems of a phonological system include: 2 2 2 2> 2> 2> > >
1<<<<<<<< Jouiv wligall olad acqsll ol ol blosVI

1. phonotactics,
also known as sequence constraints. These are restrictions on the number and type
of segments that can combine to form syllables and words; they vary greatly from one
language to another. In English, for example, a word may begin with up to three
consonants, but no more than three. If a word does begin with three consonants, the
first will always be [ s ], the second must be chosen from among the voiceless stops [ p
t k ] and the third from among the liquids [ | r ] or glides [ w y ]. Thus we get
words such as 'squeeze' [ s k wi z ] in English, but not words suchas[ pstap ].
uuSasUgigall .Y
&hsll glgil 9 a2 dcgogoll sgu8ll (e 8,lie D9 >9x2)] 9l gilgoll Aol B, Loyl
S,5Y a8l o sgusll 0is wlizi (wlally adaslll gblaoll WeSH gouzs Ul Sl adaslll
cnadV] Al UsSy Ul (sde oo o LS Tas 38 aalSl cJliadl Juw csde @usulsoVl (s
Cwlgall 3>l Ve Ul s il « [5] WeSy Lo Lasls JgVI &ll=dl el (88 . caolgun W
aolS Jio wlodS az clid . [wy] adVuVl ol [Ir] agilodl o>l el g [ptk ] awgopoll
. [pstap] Jio wlolS 336 Vg « &u3dssVl el (5o [s k Wi 2] Wigo augiSell ‘squeeze’
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3. phonological processes,
including coarticulation processes, are modifications of the feature structure of a
sound that occur for one of two reasons: to make sounds that are near each other more
alike, thus make articulation easier (assimilation), or to make sounds more different from
each other (for instance, aspiration makes voiceless stops suchas[ p ]Jand [ k ] more
different from voiced ones suchas[ b Jand[ g ].

gl adosll .Z

Weall dazdauwdl Oljaondl 9 2uoModl (e WMl a9 « coarticulation Uldecs sJe Sgixi
9 b Jupauid) s$JWls « dpylinio oy oo duill wlgoVl Jezd lol tgummdl 45V Gz (sl
&Sew i il sou gl Mio ) Lasdl lpas oo BV S| olgoVl Jexd of g leswl

- [b]; [9] Jio @uyp=dl o UMzl 3SI [P], [K] wgopoll 99 =lI

Draw, the syllable structure of the following words:

apron
basic
began
begin
depend
even
hotel

Exercise: Analyzing the syllable structure of English words

Using the models on the 'Syllable structure in English' page for the words 'read', 'flop’,
and 'window', analyze the following words into their syllable structure. (See Slide 14)
(1) Write the word with periods between the syllables; use IPA symbols - Ex. 'baby' = [
be.bi ]

(2) List and identify the parts of each syllable

Ex. : 'boondocks' = [ bun.daks ]

First syllable:
[ bun] Remember that diphthongs count as single
Onset [ ] vowel segments.
Rhyme [ un ]
Nucleus [ u ] Here are your words:
Coda [n]
- Second syllable: < 1. playdough >
[ daks ] 2. thanks.
Onset [d] 3. nondescript (take your time!)
Rhyme [ aks ] 4. toys
Nucleus [ a ] 5. straw
Coda [ks] - ~
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Syllables Practice

bl glwll e Oliuudas

- Syllables
- What are syllables?
adholll gblaodl -
adhalll gblaoll salo -

Syllables and their parts

- The parts are onset and rhyme; within the rhyme we find the nucleus and coda.
- Not all syllables have all parts; the smallest possible syllable contains a nucleus only.
e A syllable may or may not have an onset and a coda.

15> 9 auaalll gblioll

wlis ghin g 8lei a>g asla)l (58 ¢ audld g laiwo s <3Vl

bt olgs Sezy (sdas) ghio sl tshaslll ghioll (59 s>Vl JS 399 bV
. 4,8l swolizl glioll 9 [aiuodl Sg=s V gl Sgzs 18 (shaslll glhasoll

Onset (O)

Onset: the beginning sounds of the syllable; the ones preceding the nucleus. These are
always consonants in English. The nucleus is a vowel in most cases, although the
consonants [r], [ ],[ m], [ n], and the velar nasal (the 'ng' sound) can also be the
nucleus of a syllable.

In the following words, the onset is in bold; the rest underlined.

read

flop

strap

0) laiuoJl

aola)l 8ley wnw Sl eyl fsbaalll glhaoll (s & gomunll weall &l g el

G,>) wilo W,> a8Lal blgs WSS louw Uil 8 (Asuzall Bg,=l) Cwlgall o WSy Losls
38 (Ng weo) sail-silll wg.all o [r], [11, [m], [n] aslall Bg,=l ol V| Jlg=VI el o (ale
) a8lall dlgy LeSH

Loz o b aolSUl ausy (i oo (STl wglL ool ¢ oMel wladSJl (s

If a word contains more than one syllable,
each syllable will have the usual syllable parts:

ohl%yl&@wwww
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Rhyme (R)

Rhyme (or rime): the rest of the syllable, after the onset (the underlined portions of the
words above). The rhyme can also be divided up:
Rhyme = nucleus + coda

R) a9l

o bos aing il glasol]) Tl a2 osdaalll ghaioll o Wl s52l (sd 1(rime) auslall
Sl oosi Loyl @88l . (oMel wlodsll
adll pls+ slodl =auslal

Nucleus (N)

- Nucleus is the core or essential part of a syllable. A nucleus must be present in order for a
syllable to be present.

= In English and most other languages, most syllable nuclei are vowels.

= The English liquids [ r | ] and the nasals [ m n ] can be the nuclei of syllables under certain
conditions. [ r ] can be a nucleus as easily as a vowel, in any position: the words 'bird', have
[ r ] as the nucleus; in other words, there is no vowel in the pronunciation of these syllables,
even though they have one in the spelling.
[brd]
[ I ] and the nasals [ m n ] become syllable nuclei when they follow an alveolar consonant in
the last syllable of a word. This happens in the relaxed or casual rather than very formal
articulation of the word. Compare casual vs. formal pronunciations of 'button’, 'bottle’,
'bottom’.

N) olgill

bl 90 dlgill 3959 osbaalll glasodl (M) (58 csol3)Vlg csenlwVl £33l (s  lgadl -
.adsJu ghnn.] [ >9>9

ale g, eSi wsdaalll ghioll Soil plage w55Vl wlall plaso o sVl (28 =
(lilo)

va 8 csaalll glasoll lgidl wgSs 38 [M n] awsVly [r 1] asslod] @l ClgoVl =
ausoll SV

98 [I] &,> > ¢ bird aelS cls Jko : 890 Sl (9 cilo alSy dlgill ¢ weSy 18 [r]
pJb ([brd] aods)l ois 8 gbliodl shi boasc [i] (adoll) wilal s9>9V il (sl (blgull
[bird] aeds) aulisJl as=pill 8 wilall s59>9 (e

.W|@9@o§pp|g\9§9ﬂmbuﬂ>gﬁt loauce ghaoll 8lgs zuwai [M n] &Vl g [1]
U8 . swonw)dl bl 93 Hueidl (58 din ST s il pledl jueidly lhidl (88 S waxy
‘button’, *bottle’, ‘bottom’. o>Vl WeIL 8,95 3ol WledSUl (8 slaill
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The Core Syllable

The core syllable is made up of a Nucleus preceded by an Onset:

WSawlbw )l glhsioll
Taiodb @8gaodl 8lgl oo weSiy dubhalll gblaodl (58 sowlwl ghsoll

N

O(nset) N(ucleus)
| |
C \'
Syllables
Jump
@
How many syllables does this word have?
Syllables
Jumping
®e
How many syllables does this word have?
Syllables
Jumping

How many syllables does this word have?

Syllables
Help
@

How many syllables does this word have?

Syllables
hello

How many syllables does this word have?

Syllables
Hello

How many syllables does this word have?

Syllables
pencil
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How many syllables does this word have?

Syllables
pencil

How many syllables does this word have?

Syllables
clock

How many syllables does this word have?

Syllables
table

How many syllables does this word have?

Syllables
table

How many syllables does this word have?

Syllables

happy
[ X

How many syllables does this word have?

Syllables
happy

How many syllables does this word have?

Syllables
school

How many syllables does this word have?

Syllables
Liverpool

How many syllables does this word have?

Syllables
Liverpool

How many syllables does this word have?
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Syllables
carefully

® 00
How many syllables does this word have?

Syllables
carefully

How many syllables does this word have?

Syllables
mummy

How many syllables does this word have?

Syllables

happy
L X

How many syllables does this word have?

Syllables
Mummy

How many syllables does this word have?

Syllables
computer

® 00
How many syllables does this word have?

Syllables
computer

How many syllables does this word have?

N otes
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Elements of the Class

- Strong and Weak Syllables
- Ths Shwa
- Close front and close back vowels.
- The Nature of Stress
- Word stress rule
- Sentence stress in English
10 ,w0l=x0ll Jolic
aauenll g @ygsll gblaodl -
(=l woll) lgidl -
aualzll asleoll 9 awloVl aslesll (aloll Bg,>) wilgall -
Aol uoiw dacld -
sl (09 Aol v -

Syllable structure

The general structure of a syllable consists of the following segments:

Onset (obligatory in some languages, optional or even restricted in others)

Rime:

Nucleus (obligatory in all languages)

Coda (optional in some languages, highly restricted or prohibited in others)
tree representation of a CVC syllable.

iuballl gblaodl S i

14Vl s>Vl o WSy glasol) plall JSLall

(2o gl Sl WSy VI pasdl (89 losw wlelll o (9 S)L=]) el

auolall

(Ol gro> (9 ay)L>1) blgal

Syl 3le) 9 bolos jela=o (su> gl adle a> ) dso wwlelll pas 9 S L) sVl ghaoll

Strong and weak syllables

A close observation of English phonology will reveal that many syllables are weak; this
is true of many other languages ,but their constant occurrence and their importance makes
it imperative to study them closely.

So it is necessary to study how these weak syllables are pronounced and where they occur
in English..

aa,eall o dugall gblioll
Waboiy Lyl [Adg fasuss adaalll gblaodl (o ,uSIl I U a,aAJ @ ul= \Jl w9 a8 il Lisol oJ
JSiw lpicwl)s wxol Lol 9 ol JSeiw lpigas> camuw 9 1,3Vl wlell o sl (sle

5=Vl (88 (i ol (848>

33929 ;Slol @820 ¢ danall gbliol 0ia sk dasSiwl,s pgoll (o Gl (sJlls


http://en.wikipedia.org/wiki/Syllable_onset
http://en.wikipedia.org/wiki/Syllable_rime
http://en.wikipedia.org/wiki/Syllable_nucleus
http://en.wikipedia.org/wiki/Syllable_coda
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What does “stress” mean?

stress is the relative emphasis that may be given to certain syllables in a word, or to
certain words in a phrase or sentence.
The term is also used for similar patterns of phonetic prominence inside syllables. The
word accent is sometimes also used with this sense.

sl edlaasy dg.080ll Lo

(28 o @0l (8l ARl (29 Aismo gholao sl ghio (Lo unen St 55,0 82 syt
o alo> ol 8,le

P "dy " aedSdl Lgblasdl S )Wl weal) Glewdl juss (88 pasiiuy 18 Loyl adlaaoll
coueodl [As s slac)

What do we mean by :strong: and :weak:?

In the present context, we are using these terms to refer to phonetic characteristics of
syllables. We could describe them partly in terms of stress (by saying, for example, that
strong syllables are stressed and weak syllables unstressed),but until we describe what ™
stress” means such a description would be very useful.

- 9 699" (&) bg,a.o.o.” o

wsbholll ghsoll auigall yaillazll (sde aVall wlsdlhaoll 838 pasiws «(Slowdl 13s (59

& unally 33w Sesll glhaoll 13a ) aiudl 8l bo 1> (Jl gblaoll was Ul gulaiuw
Suanin " Guse 9ale i Ul e @l suso sl puay (su>g (oo

Ru

o

The more important thing to note at present is that any strong syllable will have as its
centre one of the vowel phonemes(or possibly a triphthong )but not Shwa.
:dacld
9ol ) aslall wlowgall a>l 055 30 O WS, Ul Lz daciiw ghso (Sl Ul @as>Mo wdgll [id 3 ppoll o
.'shwa’ ol weall = lgidl weo Gud Sy (8> (v

Ru

o

While comparing the weak syllables containing vowels with strong syllables, it is obeserved
that vowel in a weak syllable tends to be shorter, of lower intensity and different in quality.

For example, in the other word " father /f a: @ the second syllable , which is weak is
shorter than the first, is less loud and has a vowel that cannot occur in strong vowels.In a
word like " bottle" /botl/ the weak second syllable contains no vowel at all, but

consists entirely of the consonant.We call this a syllabic consonant.

1009

uzall ghsoll (58 wilall Ul asW augsll go dsilo Wey> (sledugizoll dasall gblioll @ ,lios
.q_o.LL'zouLu.o.SCUgo.L>J9| ).a..a.9u954u|d\J|J.a.m

b0 A « gVl o a8l g8 « inmall g9 olill glasoll : father / f a: 9/ @odS sd «Us Jlio
98 all ghioll “bottle’ /botl / Jio dedS (58 .aue8)l wlislal (swins V wilo alg g las,| J3I
ol ghiodb 148 (swouy .liolo oo o JSiiu UsSeg wilo I (sl SeizVg soilil glasoll


http://en.wikipedia.org/wiki/Syllable
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The vowel ( “ schwa” ) o

The most frequently 3ccurring vowel in English language is shwa a , which is always
associated with weak syllables.In quality it is mid( that is, half-way between close and open)
and central ( that is, half way between front and back).It is generally described as lax, that
is , not articulated with much force and energy.

lpicyr o Aausall gblaoll Lodls ol el g « 8 "ol gl lgid] ™ sulsead] "wgall” cilall
LoV b og (alsdl g coloVl oulo) sl g (2eisnlly (slaodl ulo) waiiodl (58 sd
o> ol b (¢,%9) sy

Rule

Most of the weak syllables in English have shwa but it does not mean that all weak
syllables have shwa . Learners of English will have to know about the proper placement of
the shwa.

100cl9

ey aaueall gblaodl JS Ul sy Vg ¢ schwa yylxodl woall (Seizi @l Yl 9 daneall gblasdl el
. schwa yl=oll weall

Here are some examples in which spellings act as guide to predict the weak
syllable.

- Spelt with " a '; strong pronunciation would be &

attend /otend/ character /kaerakte/

barracks / baeraks /

- Adjectival endings spelt " ate" ; strong pronunciation would be el
intimate / IntImat / accurate/aekjorat /
desolate/desalat/

raneall glhsoll yaxi aulSol sde P @Sl cos alioVl Loy L
9 lguidly & 50,JU cuiSw Seall bl "a" 9o W =l Ul I 8 -
attend /aotend/ character /keerakte/
barracks / baeraks /

eI 50,0 UgSw (Sgsll halll @ "ate" glhsoll, dspiindl wlaall cloowl -
intimate / IntImat / accurate/aekjarat /

desolate/desalat/
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Close front and close back vowels

Two other vowels are commonly found in weak syllables, one close front ( in the general
area of i: and i) and the other close back rounded ( in the general region of u: and v ) .
In strong syllables it is easy to distinguish i: from ,u: from o, but in weak syllables the
difference is not so clear.For example, although it is easy enough to decide which vowel one
hearsin " beat" or " bit" , it is much less easy to decide which vowel one hears in the
second syllable of words such as, " easy" or " busy".

:dualsd] 9 AuoloV aalaoll gblaoll
(i gt wlgoVl 2,50 58) ool sleo lodas] dsall gblioll (xd 6,,Sio 6,500 Vlazg Vlislo Ula
(69 U pwgall 2,%o dslhio 89) a5 uaiwe (3leo ,3Vlg

V 8,0l aausall ghblaal 38 Sy« 5o Ut wlo g cigir wuwlo el Jpudl oo @gall gblaodl (sd
ooyl iy ueSy

W8 weall o SJg « bit g beat 9 acgoundl s wilgall Sl i Jpadl o Jlndl Juw sle
. busy ¢ easy s9 acgouuodl Loyl 5u00

What is the weak form?

English is a stress-timed language, which means that stressed syllables are equal in timing.
In order to fit our words into this pattern, we tend to "squash" or compress other syllables
or words occurring between stresses, in order to keep up with the more or less regular
rhythm. Therefore, compressing or "weakening" some sounds is necessary to keep the
rhythm of English.

Sunall Sl 98 b
ool ol s L) 8sainoll audaalll gblaadl Of Sl 103l lasiye 1uiniv a8l s sVl aslll

5 gblaoll Lass s Ll (LgilolS g lpeblio pclis l v aall ol faw ¢ M 1is wowli ol 1, WVs
85uiiodl (ulo asdlgll wlodsl

=Vl pels sde adbdlxoll (S 0 ol 98 WlgoVl Las Vles| ¢ bheall UL (g

A weak form is the pronunciation of a word or syllable in an unstressed manner. Of course,
the difference between the strong form (stressed) and the weak form (unstressed) of a
word is not apparent in writing, but in speech these two variations in pronunciation can be
drastically different. If spoken in isolation, the weak form of a word would probably be
unintelligible. The difference between the two forms can affect meaning.

See > 22>

sl g (>anoll) Sall o S5l ill 851si0 18 8,500 Ehito ol 40lS sk 50 Anial disp)
JSadl 1) 50Ul 0gSoY GlolSIl (e sauive pally saciiodl gule Byl (Il dsba (sauino mell)
»ell) Cueall JSCadl 85,80 8900 Linxs 151 . shidl (59 1S JSin ety lopiw B)lall Sy «((sulsdl
g0 (38 iy 18 ulSLidl pwlo Byl ogpio o Aol )90 Bohio mué giw 18 dalSl (o (3adko
S|
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Here is an example to show how strong and weak forms of a single word (that)
can change the entire meaning of a sentence:

John thinks that man is evil. /6 a t/

This version of the sentence, with the weak (unstressed) form of tAat, means "John thinks
all humans are evil." @

John thinks that man is evil. / zet/

This version of the sentence, with the strong (stressed) form of ¢Aat, means "John thinks a
specific (male) individual is evil."

As indicated by this example, if a speaker unknowingly uses the strong form instead of the
weak form, misunderstandings can occur.

9 WS (sumoll W e wallg ( that) Guse alS (o wusally S9idl Gun aliol W load

alod|
HeB S
that uld JLLg (lgu) Saio jue 3 ghdoll weisl that aels) augall b¢l,8ll JgVI JLodl (58 —
s yaindl S Ul Ug> assiey 1 (V) umoy 9 833io jul wels
sy telld Ol puad uei sueelly [ @t/ ghsodl ayasin wsauw that aedS (soldl Jbedl (88 —
o (s J=)) =l s ol wg=
woisodl ppd (08 dclwl Wazy (Ao jue 9 IV il ool placeowl bbassed 1ig) —

There are two good reasons why weak and strong syllables ought to be learnt

First, teaching weak forms can help students improve their production of spoken English.
Because of the influence of their first language, foreign students tend to pronounce every
word very clearly. As a result, their speech always sounds foreign, sometimes unintelligible,
because enunciating each word in a sentence can disrupt the natural rhythm of spoken
English.

Second, not knowing the weak form may inhibit students' comprehension of the English
spoken by fluent speakers. Therefore, acquiring weak forms is important not only for
students' production of spoken English but also for their listening comprehension.

1o WY ol Siuiuo ulle Siwuoll i | ) UMesw Ul ) Ubuaw JUd

ot Ayl =Vl ael) o MSUl pp=>lol Guaw=s (sde Ml acluy wueall JSadl pudsei dgV
ppiaa> @zl o> auoly JSuiy @S JS (shaid Uslioy bo Lesls LMl ooVl ppsle) 55U
DoVl Jlasy alozdl (s Ldy> aalS JS (ki OV (panle 5 ppso e UsSy Ladls ayslsVl,
uszoVb consll el

oo lp=ouuy boaic agll (sJgouidl ppell (sde pleiodl CIUal 8,18 (o Jouis waumall juoi pac tsolil

8 LIl 6,38 poonze) Jnsd G o> oo wanmall pleid dlig) ol @alS @5Vl &asoll
wosclocud] ppall (sl @,18 Loyl s dublieoll
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The nature of stress

All stressed syllables (or strong syllables) are more prominent than unstressed syllables (or weak
syllables) . Four different factors are important:

1. Stressed ayllables are louder than unstressed syllables; (loudness)
2. The length of syllables; If one syllable is longer than the others there is quite a strong
tendency to hear it as stressed;

3. The pitch of the syllable: pitch in speech is realted to the frequency of vibration of the vocal
cords and to the musical notion of low and high pitched notes;
4. A syllable will tend to be more prominent if it contains a vowel that is different in quality
from neighbouring vowels (i.e look at vowels against vowels encountered in weak syllables)
S VE WY -T2

B 48,8 Jolge gl (asusall gblsoll) o3 mell o 1390 )5S| s (augall) osainadl gblaodl JS
aopoll

(2,98=) ;330 2l o (lle oy ggonuo) slel saiiall ghaoll )

52,0108 gouuy OV bty Juow BB LUl o Jgbl ghie Jis O I3l igblaall Jgb .Y

8,8:0)ls asigall Juzdl (58 wlslaaVl 35,1 aag e wlbzdl (sb dosdl 1ghsoll dasi .Y
alally dnssioll Ol (29 SUgdl lpiazs (sull auiswgoll

) 8,9lzall cilgall e acys (88 walizo ciilo (sle Sgixl 13115, LeS Jroy ghasoll .5
(aseall ghblaoll dusoll dlly wilgall 0,6 1 sizoy)

How do you say feacher?

Longer teeeeeeeeeeee cher
Higher tea

cher
Louder TEA cher

All three combined | TEEEEEEEEEEE

cher




Word Stress Rule

Fall 5 palaal

H- VLY VEWVRUT Y] U

Word type Where is the Examples
aolsl gg stress? ¢l aliol
S duodl
Two syllables Nouns on the first center
oaslaso sloowl syllable object
JoVI glasoll 59 flower
Verbs on the last release
Jl=dl syllable admit
S>>V glhsoll (o9 arrange
Compound Nouns on the first part desktop
&S 0 wlols (N+ N) JoVI g5l (58 pencil case
(Adj. + N) bookshelf
slouwl greenhouse
Adjectives on the last part well-meant
(Adj. + P.P.) (the verb part) hard-headed
wlaall JYCSV FSCY | IPXC| old-fashioned
(J=oll £5>)
Verbs J=oll ¢5> understand
(prep. + verb) overlook
Jl=dl outperform
Word type Where is the stress? Examples
turn off
Phrasal Verbs on the particle buckleup
hand out
economic
-ic Geometric
electrical
the syllable before the ending —
i Technician
oy -tion, -cian. -sion graduation
Word with soRasion
added
ending _phyr -8y- —tl’_V: -Cy. —f_V: E Phlo)togragh}
- iology
) geometry
the third from the lastsyllable
2 Parameter
-meter Thermometer

barometer
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Word Stress Rules
Rule Appled to Examples
stress on the 1" syllable most 2-syllable nouns NOTEbook, LAMPshade,
PRESent, REbel
most 2-syllable adjectives HAPpy, HANDsome,
GRACEful
stress on the last2™ syllable most 2-syllable verbs preSENT, reBEL, seLECT
nVITE
stress on penultimate syllable | words ending in -ic DemoGRAPHic, PSYCHic,
(the syllable which 1s 2* to the bioLOGic
last)
stress on penultimate syllable words ending in -sion and -tion |teleVIsion, revolL Ution,
(the syllable which 1s 2% to the mVENton, preClsion
last)
stress on ante-; fimate words ending in -cy, -ty, -phy  |biOgraphy, aBllity, Allergy
syllable (the syllable whichis  |and -gy
third from end)
stress on ante-penultimate words ending in -al psychoLOgical, mythol Ogical
syllable (the syllable which 1s
third from end)
stress on the 1* part compound nouns WHITEboard, STAIRway
stress on the 2 part compound adjectives red-HAIRED, high-HEELED
stress on the 2* part compound verbs overFLOW

Sentence Stress in English

- Sentence stress is the music of spoken English. Like word stress, sentence stress can help
you to understand spoken English, especially when spoken fast.

Sentence stress is what gives English its rhythm or "beat". You remember that word stress
is accent on one syllable within a word. Sentence stress is accent on certain words within

a sentence.

H-'5
Jewn Jozdl 3o «oledSl ayais s oS &y 5d=0V0 dublall (siawgo b @locdl 3yais —

N REX [IEVE WY,

& JSin ol (28 dols @axiall a2l ppd
(elayl) Siawgoll lpelil a5Vl aalll (wbasylo 98 alocdl ayais -
ole 8,0l 98 ozl 3o aalSIl (58 gblioll a1 (58 bl 98 anlSIl ayauis ol S

ozl (89 833=0 WladS




Fall 5 palaal

Most sentences have two types of word:
content words
structure words
Content words are the key words of a sentence. They are the important words that carry
the meaning or sense.
Structure words are not very important words. They are small, simple words that make
the sentence correct grammatically.
If you remove the structure words from a sentence, you will probably (leVl (sle) still
understand the sentence.
1wladsll o Ulegi Sgixi Joxdl auldle
9 wuodl Joxi sillg dopo wlodS @ .alozl) zlivosdl L (Seixall LlelS) Ao Ulels
Aogpao dlozdl Jexi
ozl Jexid 820 9 darun OlolS (s .aloxl awaVl Ol cowd @y AlSud Clels
(Lg=) Lubyel duzo

aJSup)l olals)l @il sic Sow pgall IV

Imagine that you receive this telegram message:

SELL CAR GONE FRANCE

| [ [ sELL | my | car | [rve | GONE | to | FRaANCE |

| will [you | SELL | my | CAR | because [I've | GONE | to | FRANCE |

2 1 3 1

Will | you | SELL | my | CAR | because | I've | GONE | to FRANCE

Rules for Sentence Stress in English

The basic rules of sentence stress are:
1. content words are stressed
structure words are unstressed
3. the time between stressed words is always the same

A

1 e V1 aosd| Auauisi Aclgs
333uino Sgizxodl WladS N
8330 s sbdl wlads .Y
s 98 losly 85 el WlodSJl ulo widgll .Y



Content words — stressed

Words carryving the meaning | Example

main verbs SELL. GIVE. EMPLOY
nouns CAR. MUSIC, MARY
adjectives RED. BIG, INTERESTING
adverbs QUICKLY, LOUDLY, NEVER
negative auxiliaries DON'T. AREN'T. CAN'T

Structure words — un-stressed

0dwino jul ~sliJl UlolS

Words for correct grammar Example

pronouns he, we, they

prepositions on, at, into

articles a. an, the

conjunctions and. but, because

auxiliary verbs do, be. have, can. must
Notes:

10
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Stress
Stress (within a word)

The nature of stress
Levels of stress
Placement of stress within a word

- suffixes
- prefixes
- compound words
- variable stress
- word-class pairs
A A |

(2l 58) yis

Lol asub
ol Sgiue
aolSUl (58 sl ulso
G>loll gyl -
ol gl -
aS, o)l ololsdl -
waall uls -

The nature of stress

Stress — a sound or syllable which is stressed is one upon which there is expended in the
articulation relatively great breath effort and muscular energy: in voiced sounds, greater
amplitude of vibration of the vocal folds, together with the reinforcing resonation of the
supraglottal cavities, results in the physical terms in relatively great intensity of the sound or
syllable, such intensity being perceived by the listener as greater loudness associated with
the sound or syllable.

VAW | K- CYN

9 paedl ap> (9 LSl anws shill 9 ade Jiy Sl 98 sasinll ghsodl ol weall -auasiuill
oo w3 9 leo ddgall Ol Olilal (59 Sl asw @ygp=ll WlgoVl (w9 1wMael adlb
Jussows 8ozl 038 « 8a> sl Luws 98 ghido ol sisw Sb die guiy «S)loje Beall wayg=ll
weall gl glhaalb b yoll weall (slel glai)l Jlsd ol goludl suJ
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The nature of stress
Production

generally defined as the speaker using more muscular energy than is used for the
unstressed syllables.

the muscles used to expel air is more active, producing higher superglottal pressure.
Prominence - stressed syllable are recognized because they are more prominent than the
unstressed syllable.

Ha Y

830 il gblioll aic aio ,iS] ad dulas)l @8Ual) Gaxioll plasiwl Gl (sle By -

e slel oo zuiad (bliv SV wbd puadl Syxo )5 lgpdl )b il wMasll -
S el o Wigo 1590 S| Y juos dauiwedl - jaxdl . lojedl Bgdle aslnio

What makes a syllable prominent?

There are certain factors that make a syllable more prominent and these factors often co
exist to give considerable perceptual effect.

stressed syllables are often louder.
stressed syllables are made more prominent by its length.

the pitch of the stressed syllable is noticeably different from the other syllables.
(movement of pitch e.g. rising or falling)

contains a vowel which is of different quality from the other vowels. (refer to "WEAK
FORMS"” in Roach pg 112)

5317 g0l | Sl b

cosanzdl oM ppo il csdasid Layl a>gi Lo WLe Jolg=ll &l 9 13950 x5S glasall Joxi dipmo Jolge llia

Ligo wslel WL bsaiwoll gblaodl -
ol Ligh o a0 d3auinoll gblaoll -

(bgud 9 3920 Mo « 8, &S ,>) . S,35 VI gblaoll (88 &b o guogl LSS Sacioll Rlasoll 6,0
Roach s "wueall JSadl" (I 50,0) .SVl wolgall e lpegs 09 walizs wilgo (sde (Sgixi
pg 112)
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Levels of stress
Many levels of stress depending on the length of the word. (not just confined to two or
three levels)

- the word ‘around’ — on the second syllable the pitch of the voice does not remain level but
falls from a higher to a lower pitch (trans 1)

- the prominence from this pitch transition is called primary stress (Roach) primary
accentuation (Gimson)

- secondary stress — weaker than primary stress but stronger than an unstressed syllable.
‘examination’ , ‘photographic’,

A diuid | O>)> 9 LU g
(wl>)s @M ol Uli>)> (sle 8 aibo Jnsd ) (AolSIl Jgb (sl dwuss il ols)s o S

bupi loil (Wlgiwo (89 (56:3Vg jueis waall 6,0 % bl pelso 58— "around’ aolS -
. (transl) aaazio 6,0 Jl aldle 6,0 o

(Gimson) JoVI AuSeill (roach) JoVl il souuy 8l Jlaol (s ol -

odlioll (58 LS .52 ,udl gladoll o Se8l S oVl (o vl ~Seill Ll -
o Ml

Placement of stress
How can we know the correct syllable to stress? Example ‘camera, ca’'mera or came’ra?

the word is morphologically complex or simple? I.e does it have one or more affixes or is it
a compound word?

What part of speech? Noun? Verb?
The total number of syllables

Phonological structure of the syllables.

¢*camera, ca’'mera or camera Jlwo Sauaiul) uxall ghsodl W, Ul W WS

sl ol s=>lglll o ,iST gl axlg (Sgizs U oSl Salaun ol dab20 du=glg9,90 atd WIS Anlsl o

S Uzl S sVl SOlasdl opo £5 S
gblaol) Jols)l sasll

gblial) sigall Sl



B)ﬁ\.&i\ﬁ)'cu\
Word stress/accentual patterns

2 syllables —

if verbs — basic rule, the second syllable is accented.
Examples: in'vent, re'form.

If the final syllable is weak then the first syllable is accented
Examples: ‘open, ‘enter
Adjectives — ‘lovely, ‘yellow

Nouns — if the second syllable contains a short vowel, then the stress will go to the first
syllable. If not, it will fall on the second syllable
Examples: *husband, ‘placard, ‘window, ‘money, bal'loon, Chi'nese, can’teen

JlioJl 9 S (0, alaiy) yuio o] glasoll cawlwl 80cld -Jles )
Examples: in'vent, re'form.

Jliodl (8 oS 0 uuii oo Sl g8 JgVl ghiaold uzo a3Vl ghioll OIS 3]
Examples: ‘open, ‘enter
Adjectives — ‘lovely, ‘yellow

@l VI g «JoVl ghioll (sl wdiy 1Sills «jund dle (sle iz il ghsoll OIS 131 -cloww V]

Examples: ‘husband, ‘placard, ‘window, ‘money, balloon, Chi'nese, can’teen
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Word stress patterns

3 syllables

Verbs — is the final syllable is strong then it will be stressed
Examples : under’stand, enter’tain

If the last syllable is weak, stress will be on the preceding syllable if it is strong.
Examples: en’counter, de'termine

If both the second and third syllable are weak, the the stress will go to the first syllable.
Examples: ‘parody )
1aolSJ| Wi blodl
gblio UMW

Lol ade gay Sl 9p8 (Sg8 VI Rhasodl OIS 5] -Jlws]
Examples : under’stand, enter’tain

S99 VLS 13 adwy Sl ghsoll 8 WSH Loal (s sV gloasll OlS 13 Ll
Examples: en’counter, de’termine

JoVl glasoll (9 WSy il (utuns LIl g Ul Guaslhsodl MS OLS I3
Examples: ‘parody

Word stress pattern

3 syllables

Nouns — if the final syllable is weak or ends with {3}, then it is unstressed. If the syllable
preceding this is strong, the stress will go to the middle syllable. Examples: re'lation, po‘tato,
e’leven, sy’nopsis

Is the second and third syllable are both weak, the stress will go to the first syllable.
Examples: ‘yesterday, ‘innocence, ‘bachelor, ‘wanderer

To think: last syllables which are prominent, do they take a the secondary stress? (Roach
pg. 100)

a0l SJ1 Wi blodl

gblio UMW

Sl glasell OIS 131 530 e 909 {} U pis gl aumo VI glhsall O 131 - £loww V]
Jwgll glhisadl (sl iy dail (Sed b

JUx : re'lation, po'tato, e'leven, sy’nopsis

JoVl ghsodl (sle g8y il cues ldMS el g ulidl glasodl WIS 15]
Examples: ‘yesterday, ‘innocence, ‘bachelor, ‘wanderer

(Roach pg. 100) SSgili o lgisl Ja «85,W1 8,u3Vl gblaall @ uSazll
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Word stress patterns

Complex words

words made from a basic word form (stem) + an affix
compound words — words composed of separable root morphemes. (football)

Affixes — prefixes (comes before the stem, : impossible) and suffixes (comes after
the stem, example: happiness)
1a0dSJ| L i bloil
&S ol wladsJl

ol + (aelSIl i) csewlol JSis oo @isSe @nls
(football) JlaasW @l a,is wlowd o oo dsSo wlolS -aS odl wlodsl

@odsJl )i> a9 ) g>lell ((impossible (Jlo candSl )i s ) (@lod] - wla=dodl

( happiness:Jlo

Suffixes

Suffixes carrying primary stress — the primary stress is on the first syllable of the suffix. If
the stem consists of more than one syllable then its first syllable will take a secondary stress

Ja'pan -> ,Japa’nese
-ee’ -> ,refu’gee

‘-eer’ -> ,mountai’neer
‘-ese’ -> ‘portu’guese’
‘-ette’ -> ,ciga’rette
‘-esque’ -> ,pictur'esque

S=>loll

S| oo UsSio @olSUl i OlS 131 . 5> W JoVI glasoll (sde gay oVl suaniidl - sJgl i Lo

Seslddl awasaal asb JgVl glasell UL gladoe o
alioVl (s oS
Ja'pan -> ,Japa’nese
-ee’ -> ,refu’gee
-eer’ -> ,mountai’neer
‘-ese’ -> ‘portu’guese’
‘-ette’ -> ,ciga’rette
‘-esque’ -> ,pictur'esque
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Suffixes

Suffixes that do not affect stress placement
“-able” ‘comfortable

“-age” ‘anchorage

“-al” ‘refusal, ‘rebuttal

“-en” ‘widen

“-ful” ‘wonderful

“-ing” ‘amazing

“-ish” ‘devilish

For verbs with stems containing more than 1 syllable, the stress is always on the syllable
immediately preceding “-ish” e.g. re’plenish

a=>lall
il Ul (08 585 V sl >lelll Lasy
“-able” ‘comfortable
“-age” ‘anchorage
“-al” ‘refusal, ‘rebuttal
“-en” ‘widen
“-ful” ‘wonderful
“-ing” ‘amazing
“-ish” ‘devilish
Sy Sl ghhsoll (58 UeSHlo losls il (glaso o ST sle Qugizodl Hgizdl WIS JledMJ
. re’plenish (s oS “-ish”

Suffixes
Suffixes that influence stress in the stem
In these examples primary stress is on the last syllable of the stem.

“-eous” ,advan’tageous
“-graphy” pho'tography
“-ial” de'nial

“-ic” cli'matic

“-ion” per'fection
“-ious” in‘jurious
“-ty” tran’quility

“-ive” re'flexive

. LS=>lgll
anlS)l i ot (8 il ol a>lolll
aolS)l iz s sVl glasoll (sde weSy (sJoVl il &l alioVl (s

“-eous” ,advan’tageous
“-graphy” pho'tography
“-ial” de'nial

“-ic” cli'matic

“-ion” per'fection
“-ious” in‘jurious

“-ty” tran’quility

“-ive” re'flexive
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Prefixes

Effects on stress do not have comparative regularity, thus ~ safe to say governed by the
same rules as those for words without prefixes.
il aclgall Guan pSss b Jgall sl o (sJbg «5,lio aclgd gauY woil (o b
wlow SeV il wledSJl oS

Compound words

Stems with hyphen “air-raid”, smts as one word “strawberry”, smts as two words “desk
lamps”

- Compounds with an adjectival first element and the —ed morpheme at the end
Examples: Bad-"tempered, half-"timbered,
heavy-'handed

- Compounds in which the first element is a number in some form also tend to have final
stress
Examples: three-‘wheeler
second-'class

1S Joll wlodsJl
oSS H9i=dl ( “strawberry” aodSJl asl>1 izl Mair-raid” (-) owsslpl dgogoll j9il
. “desk lamps”

lpsulps s —ed JSii csde wlolSls (adj @ao ) nios JsVI yaisdl UgSs (sl &S ol wlols)l

Examples: Bad-"tempered, half-"timbered,
heavy-'handed

8,51 (9 auauis 3l Jaod Lol cuse JSii (9 08, 98 JoVI dpaic (silly &S ol
Examples: three-‘wheeler
second-'class

Compound words

- Compounds functioning as adverbs are usually final-stressed
Examples: head-first, North-"East, down-'stream

- Compounds functioning as verbs and have an adverbial first element take the final stress
Examples: down-‘grade, back-‘pedal, ill-'treat

S ol wlodsJl

&,31 9 320 bo asls Jlg>IS Josi sl olS ol
Examples: head-'first, North-'East, down-'stream

&,31 9 ol i3l JgVI e paic (b Jlg>| Soxig JIedlS Jasi csil wlS ol
Examples: down-'grade, back-'pedal, ill-"treat
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Variable stress

Stress patterns change
Stress position may vary due to:

- the stress on other words occurring next to the word in question. Example: stress on the
final stress compound tends to move to a preceding syllable if the following word begins
with a strongly stressed syllable.

Bad-tempered ----- > a ‘bad-tempered ‘teacher
- Not all speakers agree on the placement of the word. Example ‘controversy vs. con‘troversy

o buiod | v A |

lizs il bl
HEVSWTRES FCTIEC I VEWTS | NVl LV
cade g8lgdl il 1Jbo WJl§ud] 9 aodSUl ol waxy S,V GladSUl (08 spanaadl -
roil (89 il puad Joxi ol (ol ow &S yoll dodSUl (88 Sainoll VI aisll
S8 o ghso wld dodS WS ol g I3 asuw S
Bad-tempered ----- > a ‘bad-tempered ‘teacher

Jlo . aauidly wledsl Jlul sle Gwbidxinll gao> (9lgV -
‘controversy vs. con'troversy

Word-class pairs

- Two syllable words identical in spelling differ from each other in their word class. Most of
them are prefix+stem

- Their stress placement is also different. I.e. stress should be on the second syllable for the
verbs but on the first syllable for the nouns and adjectives.

Examples: ‘permit (n) per'mit (v)
‘present (n,adj) pre'sent (v)
‘produce (n)  pro’duce (v)

119>V Lol @i

lpilow! 8 pasdl lpas) oo wlikig MoVl lpoow, 8 aislhio uslaso wls wlall -
093> 9 Wlow Sexi Lpidle oledSIl wlie)

oS 5 Lo Jzall csolidl ghasodl 0gSs saciadl Of (saso lpiw Lot walise wasiudl oSo -
olaall g sloowW JgVI ghsoll 0gS,

- Examples: ‘permit (n) per'mit (v)
‘present (n,adj) pre'sent (v)
‘produce (n)  pro’'duce (v)
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Word Stress Rule

wladsJ| i dacle

Word type Where is the stress? Examples
turn off
Phrasal Verbs onthe particle buckle up
hand out
economic
-ic Geometric
electrical
the syllable before the ending
Technician
Word with -tion, -cian, -sion graduation
added cohesion
endin Photography
9 'thI -gy, -try, -¢y, 'le -al biOIOgy
geometry
the third from the last syllable
Parameter
-meter Thermometer
barometer
Word Stress Rules
Rule Applied to Examples
stress on the 1* syllable most 2-syllable nouns NOTEbook, LAMPshade,
PRESent, REbel
most 2-syllable adjectives , HANDsome,
GRACER
stress on the last2™ syllable most 2-syllable verbs preSENT, reBEL, seLECT
mVITE
stress on penultimate syllable | words ending in -ic DemoGRAPHic, PSYCHic,
(the syllable whuch 1s 2* to the bioLOGic
last)
stress on penultimate syllable | words ending in -sion and -tion |teleVIsion, revoLUtion,
(the syllable whuch is 2% to the mmVENton, preClsion
last)

stress on ante-penultimate words ending in -cy, -ty, -phy  |biOgraphy, aBllity, Allergy
syllable (the syllable whichis  [and -gy

third from

stress on ante-penultimate words ending in -al psychoLOgical, mythoL Ogical
syllable (the syllable which is

third from

stress on the 1" part compound nouns WHITEboard, STAIRway
stress on the 2* part compound adjectives red-HAIRED, high-HEELED
stress on the 2* part compound verbs overFLOW

10
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Sentence Stress in English

- Sentence stress is the music of spoken English. Like word stress, sentence stress can help
you to understand spoken English, especially when spoken fast.

- Sentence stress is what gives English its rhythm or "beat". You remember that word stress
is accent on one syllable within a word. Sentence stress is accent on certain words
within a sentence.

H:WETNT X [EVEWY
Jew Jozdl jyais (Oladsl aauis (89 S &l VU dblxell (iwso osd @zl aas -
Ripw JSuin gzl (8 aols (@axioll aslll ppd

(elal) wiwgnldl lpcll a5Vl aelll (shaeilo 96 alozl yais -
WladS (sde 8l 9o Aoz 2o Aol 9 gblasdl o>l s 8,0l 98 aolSIl 3o Ul S
ozl (89 b5a=0
Most sentences have two types of word:

content words
structure words

Content words are the key words of a sentence. They are the important words that carry
the meaning or sense.

Structure words are not very important words. They are small, simple words that make
the sentence correct grammatically.

If you remove the structure words from a sentence, you will probably still understand the
sentence.

roladSIl o Ulegi Seisd Josd | aulle

5 wsuzall Jox cilly doge ololS (ad alol zlisoll s ( Soizoll GlolS) duios wlols
ozl Jexid 820 9 dopuw OlolS b .aos) awd)l vl cowd B9 Adsud wleds
(Le=) el du=o

aJSop)l olads)l @iyl sic Sow pgall IV
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Imagine that you receive this telegram message:

SELL CAR GONE FRANCE

| | | SELL [ my | CAR | [rve | GONE | to | FRANCE |

| will [you| SELL | my | CAR | because [I've | GONE | to | FRANCE |

2 1 3 1

Will | you | SELL | my | CAR | because | I've | GONE | to FRANCE

Rules for Sentence Stress in English

The basic rules of sentence stress are:

1. content words are stressed
2. structure words are unstressed
3. the time between stressed words is always the same

-5 V| adosd| i Aclgs

1ood ozl i acwlwVl aclgsl
3330 Sgixoll WladS )
3310 € slidl wlads .Y
s 98 lodls dsaiedl wledSIl ule wdgll .Y

Content words - stressed

Words carryving the meaning | Example

main verbs SELL. GIVE. EMPLOY
nouns CAR. MUSIC. MARY
adjectives RED. BIG. INTERESTING
adverbs QUICKLY, LOUDLY, NEVER

negative auxiliaries DON'T. AREN'T, CAN'T




Notes:

5_puilalls jualadll

Structure words — unstressed

Words for correct grammar Example

pronouns he. we, they
prepositions on, at. into

articles a.an, the

conjunctions and. but, because
auxiliary verbs do, be. have, can, must

13
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What is Word Stress?

Aol Lawui 9B b
In English, we do not say each syllable with the same force or strength. In one word,
we accentuate ONE syllable. We say one syllable very loudly (big, strong, important)
and all the other syllables very quietly.

&blaoll 451 (sle 1Sgdl pgsi Wil (sisow +dauidly 89a)l b glaio JS Jasls V @zl (o

=S weny gblaoll OU gao>g (opoSeduS) > Wl waa gblisll a1 lhalid

Let's take 3 words: .
olodS Y iU

Photograph, photographer and photographic. Do they sound the same when
spoken? No. Because we accentuate (stress) ONE syllable in each word. And it is not
always the same syllable. So the shape of each word is different.

Total syllables | Stressed syllable
PHO TO GRAPH 3 #1
PHO TO GRAPH ER 4 # 2
PHO TO GRAPH IC 4 # 3

boaie aliloso wlodSJl 0id gowws Jo photographic « photographer sPhotograph

8 >y ghioll puss puds .@elS S (08 gblioll asl (1o )uSen i WY .Y S shis
oMl Jgazdl (58 oS .anlS JS JSii wlize Uidg « wlals &Ml

This happens in ALL words with 2 or more syllables: TEACHer, JaPAN, CHINa, aBOVE,
converSAtion, INteresting, imPORtant, deMAND, etCETera, etCETera, etCETera

S| gl Gushhso (e dugizoll OlodSIl gio> 8O Laxy i
TEACHer, JaPAN, CHINa, aBOVE, converSAtion, INteresting, imPORtant, deMAND,
etCETera, etCETera, etCETera

The syllables that are not stressed are weak or small or quiet. Native speakers of
English listen for the STRESSED syllables, not the weak syllables. If you use word
stress in your speech, you will instantly and automatically improve your
pronunciation and your comprehension.
Il gosuwy pl @2lS @50Vl Gaxiodl . &slag 8 2o dases Bd 85w el gblaoll
9 I (sde &bl cwlodSUl 3yanis Godseiwl 1518 L6500 el ud 9 8330l gblaoll
oW (lopd) alSlysl g clahi go s Vg &Suilogisl 8 9.0,

Try to hear the stress in individual words each time you listen to English - on the radio,

or in films for example. Your first step is to HEAR and recognise it. After that, you can
USE it!

Lpad Rovus 8,0 JS 09 31> (sde aodS JS 9 ayaniudl (oJl gosoui o odls Jols> -
9 & losiwVl @ oVl clighs .Jlodl Juww sde plud Lpad aalis gl gl Jl I
Lpolaziwl eliSey U3 a9 unoddl


http://www.englishclub.com/pronunciation/pho-tograph.wav
http://www.englishclub.com/pronunciation/photo-grapher.wav
http://www.englishclub.com/pronunciation/photograph-ic.wav
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Why is Word Stress Important?

- Word stress is not used in all languages. Some languages, Japanese or French
for example, pronounce each syllable with eg-ual em-pha-sis.

- Other languages, English for example, use word stress.

- Word stress is not an optional extra that you can add to the English language if
you want. It is part of the language! English speakers use word stress to
communicate rapidly and accurately, even in difficult conditions. If, for
example, you do not hear a word clearly, you can still understand the word
because of the position of the stress.

wblSJ] Vs Lodl S\Dlo

Jew e s ol ol AL wlell Las .olelll gio> 9 doiso jue OlodSIl yois -
ASodl gyl Hlase e ghio JS kali « Jloll

Ay deuss Mo @yl -

oo 5> Gl wane) 13 &5z VU ozl I asdlol eiSoy S)Lasl ol pud wledSIl aoas -
o> (885 JSiing A,y Jeoled) auaiill Ugaeisy @5l VU uiassed| Hpuas asll
aolSJl ppd &)9a800 UL (2oog Aol (sJl gosuwi pd bl Wi o) .aeall BV (09

General Rules of Word Stress in English

1 iVl o\ W ladSIl vawul dolell Acigall

here are two very simple rules about word stress:
aodSl 2y e s> aaoaddl aclgsll o Ulegr Lidg

1- One word has only one stress.

(One word cannot have two stresses. If you hear two stresses, you hear two
words. Two stresses cannot be one word. It is true that there can be a
"secondary" stress in some words. But a secondary stress is much smaller than
the main [primary] stress, and is only used in long words.)

A>lg Mawiw L da>lg)l aodsdl )
Il oo LB il I wsodiwl 131 .0y o ST L) WeSy Y 85 80l aodSUI
v 9 Seil Wi A>gs A8 Wl puzs b3>lg AodST VLGSH V (il . uwiedS
(o) ol VI syacasdl o HuSo 81 UeSy Seldl ol S .o leds
alyghll GlodSUl (o8 1hsd 1id Gaxyg
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2- We can only stress vowels, not consonants.
Here are some more, rather complicated, rules that can help you understand where to
put the stress. But do not rely on them too much, because there are many exceptions.
It is better to try to "feel" the music of the language and to add the stress naturally.

olgall ¥ wilgall (sle UsSy biad Lasiidl .Y
i)l gog ol ppd sle aclus sl eosaid] Lass sxasoll aclgall Lass Axgi L
dglxo JadVl o0 + lpio wiSUl azgs Y sl JSiiu aclgall 0ia csle toussV
wossmb JSuiu sl @lbl @glxs o aslll (sdawgos pulwsVl

1 Stress on first syllable

rule example
Most 2-syllable nouns PRESent, EXport, CHIna, TAble
Most 2-syllable adjectives | PRESent, SLENder, CLEVer, HAPpy

2 Stress on last syllable

rule example
Most 2-syllable verbs to preSENT, to exPORT, to deCIDE, to beGIN

There are many two-syllable words in English whose meaning and class change with a change in
stress. The word present, for example is a two-syllable word. If we stress the first syllable, it is a
noun (gift) or an adjective (opposite of absent). But if we stress the second syllable, it becomes a
verb (to offer). More examples: the words export, import, contractand object can all be nouns
or verbs depending on whether the stress is on the first or second syllable.

oSl .ol Ok yuei Lpisd 9 Wliso ey illy @3Vl (88 ushioll wls GlalSUl o yasll Uls
sy powl WSS &alSIs oVl ghsoll 13 aic .pushito oo dalS (b Jbell Juow (sle present

. (paiy) Lsumow 9 i @elSUl 0l sV ghsol sauin cus oSy wile puSe (sasig daw WS ol &ad
e Jledl gl sloowl weSH 38 (sl , import, contract object gexport wlolSJl (o8 apline alinl
ol ol JoVl ghasoll (8 il 8390 wawu>

3 Stress on penultimate syllable (penultimate = second from end)

rule example

Words ending in -ic GRAPHic, geoGRAPHic, geoLOGic
Words ending in -sion and -tion teleVIsion, revel Ation

English Tip

For a few words, native English speakers don't always "agree" on where to put the
stress. For example,
some people say teleVIsion and
others say TELevision. Another example is:CONtroversy and conTROversy.
tu =iVl 0\ (Wlo i Loy

oMel @lioVl (s LS il ulse (sde Ll (xd UgaanY ugaloVl asll Ogiasiall wlolSIl LAz
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4 Stress on ante-penultimate syllable (ante-penultimate = third from end)

rule example

Words ending in -cy, -ty, -phy and -gy | deMOcracy,
dependaBllity,
phoTOgraphy,
geOLogy

Words ending in -al CRlItical, geoLOGical

5 Compound words (words with two parts)

rule example

stress is on the first part

For compound nouns, the BLACKbird, GREENhouse

stress is on the second part

For compound adjectives, the | bad-TEMpered, old-FASHioned

stress is on the second part

For compound verbs, the to underSTAND, to overFLOW

1- Can you pass me a plastic knife?

2- China is the place where I was born.

3- Please turn off the television before you go out.

4- I can't decide which book to borrow.

5- Do you understand this lesson?
6- Sparky is a very happy puppy.

Stress on Verbs

2 syllables — if verbs — basic rule, the second syllable is accented.

Examples: in'vent, re'form.

If the final syllable is weak then the first syllable is accented

Examples: ‘open, ‘enter
Adjectives — ‘lovely, ‘yellow

Je9VI (o9 il

sl glasoll (8 gy il bl 81c -Jle8l ilS 131 -¢ushioll wlgs

Examples: in'vent, re'form.

(8,ud)

JoV| ghsoll v oo (sl gladall OIS I3

Examples: ‘open, ‘enter

‘lovely, ‘yellow- wlaall
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Let’'s NOW Explain the Stress of Verbs Only.
J59 JeoVI 5\ Ll VI i
Two Syllables-Verb
cebiio wld Jlel

| Verbs | on the last syllable | release admit arrange |

Verbs - 3 syllables
gblio Y Ul Jlel
Verbs — is the final syllable is strong then it will be stressed
Laiaid| Josw Sl 98 Ul S99 jus VI ghiodl ULS 131 - JlesYI
Examples : under’stand, enter'tain

on the last part

Verbs (the verb part) understand
(prep. + verb) overlook
outperform

- If the last syllable is weak, stress will be on the preceding syllable if it is strong.

Examples: en’counter, de'termine
Soall 98 OIS 13| @y Sl glhaoll 8 WS, il s SVl ghsosdl OIS I5] —
oMel Jlodl (59 LS
- If both the second and third syllable are weak, the the stress will go to the first
syllable.
9 LS JoVl ghsoll (08 UeS, il (tuns Il g bl ushsoll MS OIS I5] =
obs Jlwll
Examples: ‘parody

Phrasal Verbs versus Compound Nouns derived from phrasals

Phrasal verbs (a.k.a. two-word or two-part verbs) are generally made up of a verb
and preposition. For many of these, correct word stress is especially important as
they have compound noun counterparts. In the following examples, the words on

the left are phrasal verbs. The words on the right are nouns.

0sS Lo logac (s (il - s ol cuiolSIl — wls JledVU asg,e0ll) dulesll Josdl oloil
8 il LJ ol Logas ppo ol @l @olS)l oo (,SY @il > By> g J2b oo
aalSl Loy et dlo> ad b Ll (08 &olSUl s puogs ol @lioVl &S ,0ll cloww I

(adeadl Aozl A o @iirall Hudaidl) CSHoll eVl (s ol (59
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In phrasal verbs, the preposition gets the word stress.
sauiodl 98 Hzdl B> adsell Jozdl olowl (59
If they have a noun counterpart, however, it gets the stress on the first part.

saciu Sl 9o JoVl penalls uaidl S odl poodl (b Lol

let down letdown
shut out shutout
print out printout
turn of f turnoff
take over takeover
Phrasal Verbs | on the particle turn off
buckle up
hand out
Let's Discuss Noun Stress
sloww VI duini pind L
Nouns on the first syllable center
object
flower

Nouns - if the second syllable contains a short vowel, then the stress will go to the
first syllable. If not, it will fall on the second syllable
Examples: ‘husband, ‘placard, ‘window, ‘money, bal’loon, Chi'nese, can’teen

Ul g oVl ghsoll (o)l i 4Sgills b dle (sle Sgiz (il ghsoll OIS 151 - sloww VI
oMel alioVl bl .ol glaioll (58 gas als

3 syllables Nouns —

if the final syllable is weak or ends with {shwa}, then it is unstressed. If the syllable
preceding this is strong, the the stress will go to the middle syllable.
Examples: re'lation, po'tato, e'leven, sy’nopsis

If the second and third syllable are both weak, the the stress will go to the first
syllable.
Examples: ‘yesterday, ‘innocence, ‘bachelor, ‘wanderer

sloawVl— gblao LMW
Gy Sl ghsoll OIS 15 .500ie jue 999 {loi} wWeuay pis gl waues 3Vl ghsoll OIS 13
Jowgll glasoll (sl wd iy il ((Sgd
Examples: re'lation, po'tato, e'leven, sy’nopsis

JoVl ghsoll (sle sy il (awes loaMS cJll g bl glasoll OIS 131
Examples: ‘yesterday, ‘innocence, ‘bachelor, ‘wanderer
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Compound Words
Stms with hyphen “air-raid”, smts as one word “strawberry”, smts as two words “desk

lamps”

Compounds with an adjectival first element and the —ed morpheme at the end

Examples: Bad-tempered, half-timbered,

heavy-'handed

1S )0l wlodsJl

ouinlSS gzl “strawberry” dodsUl @slsl jgizdl Mair-raid” (-) ouanlpll deogoll j5ixl

. “desk lamps”

lulp 9 —ed JSidl 9 (adj avo ) (savg JoVl yaisll (sle @gizoll @S 0dl ©ladsl

oMel Jiodl (58 oS

rule

example

For compound nouns, the
stress is on the first part

BLACKbird, GREENhouse

For compound adjectives, the
stress is on the second part

bad-TEMpered, old-FASHioned

For compound verbs, the
stress is on the second part

to underSTAND, to overFLOW

Compound Words

Nouns on the first part desktop , pencil case
(N+ N) bookshelf , greenhouse
(Adj. + N)
Adjectives on the last part well-meant
(Adj. + P.P.) (the verb part) hard-headed
old-fashioned

IV. Homographs

Homographs are words which are written the same way but which have different
pronunciation. In English, there are many words which have the same spelling, but
whose part of speech changes with the word stress. If you listen carefully, you will
hear that the vowel sounds change depending on whether they are stressed or

unstressed.

VERB NOUN
record record
progress progress
present present
permit permit

Qi eiod | bl V|

oo dasll s @Vl (8 lpiky (8 waliss oSy aMoVl AU puss L) olalS (ad
£ oVl ol o aoSUl it o i lpdas) (08 oSJs ToliS aslaiell @lodsJl
oMel Jgazl Ll .sauis pd pl W ligS csle sl et lgall wlgol Ol gocuiw
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Word stress patterns
Complex words

- words made from a basic word form (stem) + an affix
- compound words — words composed of separable root morphemes. (football)

Affixes — prefixes (comes before the stem, example: impossible) and suffixes (comes
after the stem, example: happiness)

1aodSJl v bledl
1S ol wleds

Bl +(andsJl ,i>) owluwl JSoi o @gSo aols -

(football) JlawsW albld a)i> wlowd g0 o @eSo WlodS -auS ,odl wledSIl -
olsl )i> a=y iU ) a>lell (impossible :Jlio (aodSJl ,i> Guws ) (@l - wla=loll
( happiness:Jlio

Suffixes

Suffixes carrying primary stress — the primary stress is on the first syllable of the
suffix. If the stem consists of more than one syllable then its first syllable will take a
secondary stress

Lo=>1gll
o0 UeSo dalsll )i> ulS 131 . 5>W JeVl ghsoll (sle &8s oVl ayanindl - gl 3aisi Joxs
Soldl pasaadl sl JoVl glasoll O glhso o LS|
0Us| alioVl 9 oS
Ja'pan -> ,Japa’nese
-ee’ -> ,refu’gee
‘-eer’ -> ,mountai’neer
‘-ese’ -> ‘portu’guese’
‘-ette’ -> ,ciga’rette
‘-esque’ -> ,pictur'esque

Suffixes
Suffixes that do not affect stress placement

“-able” ‘comfortable
“-age” ‘anchorage
“-al” ‘refusal, ‘rebuttal
“-en” ‘widen

“-ful” ‘wonderful
“-ing” ‘amazing
“-ish” ‘devilish

For verbs with stems containing more than 1 syllable, the stress is always on the
syllable immediately preceding “-ish” e.g. re’plenish



”\

“-able

comfortable
“-age” ‘anchorage
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“-al” ‘refusal, ‘rebuttal

”\

“-en” ‘widen
“-ful” ‘wonderful
“-ing” ‘amazing
“-ish” ‘devilish

S=>lgll

il Oe (59,85 V (sl 3>loll yasy

Gy Sl ghsoll 58 UgSulo Lasls ayaaudl (glaso o ,5S| (e @gizadl joizdl wls JledW
. re’plenish s oS “-ish”

Suffixes

Suffixes that influence stress in the stem

In these examples primary stress is on the last syllable of the stem.

“-eous” ,advan’tageous
“-graphy” pho’tography

“-jal” de'nial
“-ic” cli'matic

“-ion” per'fection

“-ious” in‘jurious
“-ty” tran’quility
“-ive” re'flexive

S=>loll

ghsoll (sle 0sSy (sJsVI syl Al AlioVl sd &Sl i A w9 55l sl s>lsll
oMel alioVl il .aelS)l )iz (x8 SV

Word with added
ending

Economic
-ic Geometric
the syllable Electrical
before the ending Technician
-tion, -cian, -sion graduation
cohesion
-phy, -gy, -try, - Photography
cy, -fy, -al biology
the third from Geometry
the last syllable 5 0 over
-meter Thermometer

Barometer
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e :\_u\ﬂ\ EFM\
Intonation & Sound Linking
(wlgVl by,)) wigVl Ul 6l g pusiill
Intonation:

Improving sentence intonation is one of the key elements in your English pronunciation.
Let's discuss the four basic types of word stress that lead to proper intonation in English.

l wlaub £ lail

oM quxall pusidl (I 5585 (silly dedSIl ayaisd

Tonic Stress

Tonic stress refers to the syllable in a word which receives the most stress in an intonation
unit. An intonation unit has one tonic stress. It's important to remember that a sentence can
have more than one intonation unit, and therefore have more than one tonic stress. Here
are some examples of intonation units with the tonic stress bolded.

He's waiting
He's waiting / for his friend
He's waiting / for his friend / at the station.

Generally, the final tonic stress in a sentence receives the most stress. In the above
example, 'station' receives the strongest stress.

There are a number of instances in which the stress changes from this standard. Here are
short explanations for each of the changes with example sentences to illustrate.

10> Ainod | & uidl

b dogioll 8a59)l (58 il oo 108 S| (sal Silg dolSIl (58 ghsoll sl 3o 0yl s

pasis 0 S| Sz A8 dlozdl Ul dl)sl ppoll o a>lg 850 s ) pusidl da>g aslll

B3>lg 8330 8,00 o S| JWlg a>lg (weall wld s g las)VI)

pasii Wla>g (sle aliol (sdeVl (a9

Emphatic Stress
If you decide to emphasize something, you can change the stress from the principal noun to
another content word such as an adjective (big, difficult, etc.), intensifier (very, extremely,
etc.) This emphasis calls attention to the extraordinary nature of what you want to
emphasize.

For example:
That was a difficult test. - Standard statement
That was a difficult test. - Emphasizes how difficult the test was

There are a number of adverbs and modifiers which tend to be used to emphasize in
sentences that receive emphatic stress.
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- extremely
terribly
completely
utterly
especially
etc.

owlwVl eVl o uasiadly 85l s Ul eiSowd (o seswid olo VI s gl AS& Ol ws,l 13l
(very, extremely, etc) duouzai ,ulei (Jl ol (big, difficult, etc) wleallS 5| Sgixo aolS sl
) asadl slyedl coaml) anwidb stieadl Bgoy sesaws (I ol cals auSeidl o0 g9l 13

Nl avgidl o8l asall sain Gus> dozdly awlwVl dosdl G lowd B,all zrogs oMel Jloll
Lwonl

o2 sl Josdl (8 augiilly auSaill Lo, paziws wsills WVasally Jlg=Vl o sac Loyl s
WYaeoll 0id abiol (sdel lowd .auSei i (sJl

Contrastive Stress

Contrastive stress is used to point out the difference between one object and another.
Contrastive stress tends to be used with determiners such as ‘this, that, these and those’.

For example:
I think I prefer this color.
Do you want these or those curtains?

Contrastive stress Ll Jwaiud|

wlyaasd] 84 awdl e sesai gl g9og0 B (sde o) ooy wdoladl xyasaal
. (this, that, these and those) Jio wlsaxoll o oz

oMcl alioVI Lol

Contrastive stress is also used to bring out a given word in a sentence which will
also slightly change the meaning.

- He came to the party yesterday. (It was he, not someone else.)
- He walked to the party yesterday. (He walked rather than drove.)

- He came to the party yesterday. (It was a party not a meeting or something else.)
- He came to the party yesterday. (It was yesterday not two weeks ago or some other
time.)

ot 8 lizko uo o (e Ji @elS JS Ul waS puogi wsldeVl 8 alioVl)
(Ol
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New Information Stress
- When asked a question, the requested information is naturally stressed more strongly.

For example:

Where are you from? - I come from Seattle, in the USA.
What do you want to do? - I want to go bowling.

When does class begin? - The class begins at nine o'clock.

- Use these various types of stress to help improve your pronunciation and understandability.

H-AVACT | K- VYN YN VAW
oS 898y i il s lpic ppaisundl dngleoll Ul sl o (o dogles e Jluws Lo aic
oMcel alioVl (o9

Introduction to Linking

Native English speakers have ways of naturally transitioning from word to word, a concept
we call linking. One of the first obstacles a language learner faces in listening
comprehension is in understanding individual words when many whole sentences are said at
a natural speed. It is difficult for even students with excellent vocabulary and grammar

to urlink the words that native speakers naturally hook together in their regular
pronunciation patterns. Even when this is overcome, and a listener can confidently
understand a native speaker of English, the skill of learning to link words in his or her own
speaking often does not naturally occur.

ou )l (9 Aodio

Sl pgpanll «5,5W aolS oo dusmb &5 JauW 6,38l ) aslll LoVl Gasioll
o gloiwll (8 asll plaiodl lpp=le sl wlgsall Jgl ¢ro (o] Jas )l Ao
0. WlalSll el (58 dueudall dc )l LplolSy Jozdl lais boaie 55000 JStin wladSIl opd
Sy Ol a5zl wlsanll o S S 4 Sy saewll el auwlly > el
i a2l wgly bzl il (88 lpass go a8l LoVl Gaxioll Loy il @lodsl
0L Lyl (sdoVl xinll ppd o Bilg JSin Sig dusell 0 pleiall (sdass 15
s JSCin 9l aslaln waxi Yo Wl wlalSdl by, 8,0

- The failure to fluidly link words together is not likely to cause the same miscommunication
as incorrectly producing sounds; however, the payoffs for learning how to link are
significant. Even if two speakers use identical vocabulary and grammar when speaking to a
native listener, the speaker with more fluid linking will be perceived as more fluent as a
result of that subtle secondary level of communication.

LoVl Gaxioll g ppddl sgw cun Gudow JSuin wledSUl by, o oSeil pac 0l logac
(81150) 8,05 0L s e pe,lls Ao 5ut by9.00 WlgoVl (3l A 18 SIS olgaws
aclgs) | 9 lpwss wls a0ll Ula=so pazsowl J> 89 (si> .aopo wledSIl by, a0.S pls
SlodSl by Sl Gaziedl 0B (Lol goiuw § Waxio 8o logiud> (s s dugelll

9 csdeVl Sgiad]l Wlylpo) @il camw ,3VI oo luas slbly puadl @l g Judiu
Jolgsll
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- Indialog, words are continually linked together until there is a reason to pause. These
pauses happen where there is the spoken equivalent of a comma or period in the sentence.
We can also add a pause into a sentence to add emphasis. To begin, we'll practice linking
just a couple words at a time.

Sz i Lot aSeudl gl cooal) cuw Jld oSu pllo sy Juan oladSUl o lg=dl s
ahaill of alolall g wmrgiws csadl el dpsLinoll @Sl wdlgoll (xd woSoully wanall
sd.alozdl s Lo 1Se slasY Lo dlazd il woSoudl d8lil WSVL .alazl &S vic
s SladSIl oo 2lol by wylos B <ol

- While the general concept of linking requires blending one word into the next, this is easier
said than done. Linking words together often requires saying sounds together that do not
naturally occur together within words. For a student who has probably been taught to speak
English by carefully studying and learning the pronunciation of individual words distinctly
this is decidedly non-intuitive. The essence of linking is to provide bridge sounds between
individual words, using the last and first sounds of the adjacent words as the foundations.

Jow Tl Ol VI lpuds (sl 20 @odSUl 2505 Ol (sesiun SladSUl oy, pladl auodl Ol Gus (s
8,000 53bY Lpil (u> (08 lpiass o Wlsol sl seaswn o) . subaill wso aiSly ans (58
o @l @slxoll pdsi Sl Clal dowidl .oladSIl J51s 8 bsle lpas 8o dusub
cosgrdl 1oV Gud 1STWL SladSUl oy, 018 o5 y0i0 JSiy SJs @81 ledSUl b plsi soyb
oo JgVlg 13Vl wigall plaziwl OladS)l Gule (sigo 1w 51355 sd lodSUl by, aslo vl
Joyl) plgsS 8,9lxiall wlodsl

- Vowels are not blended when linking. With vowels, an extra sound is placed between the
words to keep both words clear and understandable.

lagale blazll pualSdl Gur (sdlol weo gog) «ilgall o .olodSl hay; aic 2505 V ilg.all
P9p80 9 guoly SS9

- Itis normal to have difficulty with linking and blending. The number of possible
combinations of sounds is immense and it is almost impossible to practice every possible
combination. For this reason, we will practice linking and blending within groups of sounds
and we will need to learn (or review) some linguistics vocabulary first to help us.

lpeo> 9 LS i Swoodl WlgoVl sac lp>50 9 WlodSIl by, 9 Qgeo Az Ul el o @il
lig) Lpule Joazdl oSonll olegaxall JS duwylon csde wuadl pis O oSos Vo Jogo ol 9o
wls aoll asy s>l oy poss Vgwg WLVl (o dcgozo Eiog b, (sl U postiow il

25 Csde Uacbuad ,oVl essb s aygalll

- To sum up:
The techniques for transitioning from word to word are called /inking.

s -
(01,s8Y1) bl oo S35 M @odS o J VI piy Lpsdawlgs sl auissd|
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- Linking Consonants and Vowels in American English Pronunciation

Consonants and vowels comprise the two largest categories of sounds in English. Vowels are
the sounds created by the letters a, €, i, 0, and u. The letters w and y also commonly create
vowel sounds, and any word that ends in the letters w or y ends in a vowel sound.

alS il wlgoVl u.;lg.aJI sVl (88 lgoW laadl 1S oMy wilgally olgall -
g9 boda>U wpil aodS Loyl 9 aislo wlgsl VML eVl 9 yaw wld, =]l .a,e,i,0,u B ,>VL

- Linking consonants and vowels

Blending consonants with vowels is one of the easiest sorts of links for non-native
speakers. To link a consonant sound to a vowel sound, the consonant sound is
shared by both words. It sounds like the consonant is both the last sound of the first
word and as the first sound of the following word.

- Listen to the phrases wake up and mice eat. Notice that there is no pause between the
words. In fact, the middle consonant sound is shared so perfectly with both the first and the
second words, that we cannot hear (from this limited context) a difference between the
following phrases.

Hwy]| 9 ol by, -

wwolo by .aell ol el axsodd by yJl JSwl Jpwl (o 98 lgall go wwolgall 2j0 -
wgall 38 lilSy colall pland . uiodSIl G lowd @S, lise pis waoladl wewall cuilay
Loali sl aodSUl (8 JgVI weuall 9 (sJgVl aodsSUl (a9 a5 VI

Cwolall adua=dl 9 . lodSIl o VSl 59>9 pac >V . mice eat gwake up wl)lel) goswl -
oo Gl ax 0 alolS 8,501 i)kl MS 9 adldly (sJgVl UliodSIl aud &S il waaiiodl 09
bl wlhledl (8 logaiw Bl (Il gosuws Ul sga=oll Blowdl 118 9 Lude weall

- wake_up and way_cup
mice_eat and my_seat

- Wake cup and way_cup sound exactly the same when properly linked. (Although this may
seem ambiguous, native speakers are used to differentiating based on context.) The &
sound links the words in the same way, regardless if the & sound is the last sound of the
first word, or the first sound of the second word.

VI Laole lgaw 13 Ol o 5, )b olodSUl by lovus> 850l Guai Olsoows way-cup ¢ Wake-up -
lagal s1) ohball u lawd Boyail) GolwlS uazdl Blow (sle Ugamizs puekoVl aziall ol
aodSJl 9 L3Vl waall 9o aigS e Hhall Las « 6 0.a)l G OledSIl by, k Jl weo ( Se.080
Aol &)Ll (8 aulidl aodsIl (58 JgVI waall il gl (sJgVl 6,Lll (59 sJgVI
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- Mice_eatand my_seat are also pronounced identically because the consonant sound (the s
sound) is shared equally between both words in both phrases.
WS 8 UliadSJl ulo aS, i pi S wwolall VY UlsUnio Ulowwy Lasl my- seat 9 Mice-eat -
oyl
Linking a

- The word "a" is usually said as a schwa and sounds much like the short u sound unless it is
being emphasized in a sentence for some reason.

- To link to the word "a" between two consonant sounds, there should be no silent gap
between the word "a" and the words that surround it. It will sound like it is a single longer
word instead of two or more distinctly separate words.

a %Sl by,

o pllo U sl el go sl U8l gous 5 (Schwa) ulso weo shis bo Wle “a” aols)l -
Lo uud dozl (598 ple aSgill

alamoll GlolStlg “a” aalSIl o oo 8938 Ulid LeSuY Ol L «ipminlo o “a” aolS)l by -
65,808 Juasio JSeiu i8] o OliolS gouws 0l Jou @gho 811y @olS Ll (sde o,lell govs .l

Linking the Word the

- The word 'the' is the fourth most frequent word in spoken English. In addition to the
troubles many languages have with the voiced th sound at the beginning of the word, the
vowel at the end of the word the has three different pronunciations depending on the first
sound of the word that follows it:

the aols)| by

axlgi il wlgmall sac (sl @lol .@asuoll @zl (58 1,15 dalS LS| gil, s theaols)l -
oz bl B,b oW a daadSUl @l s e woilall Laols)l il (8 th weall p> b wlall
r Il (58 LS auls (sl @olStl  sd gVl wgall

the + consonant

the + vowel (except long €)

the + long e


http://www.pronuncian.com/sounds.aspx?Sound=8%201
http://www.pronuncian.com/sounds.aspx?Sound=9%202
http://www.pronuncian.com/sounds.aspx?Sound=9%202
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Rule# 1: the + consonant

- Linking the to a word that begins with a consonant sound requires saying the vowel as a
very quick schwa (an unstressed vowel sound which sounds like a short u sound) and linking
it with the next word. Say the word the with almost no vowel sound at all.

wwolo + the : )\ # daclall

©g0) Jlzeod! lgidl GgaS dsyyuw 8,000 colall his Ol Ggiwn wola i delS) the by, -
Lo, aodSdl sl .adi sl @aodSJl go alyy 9 (Guas)l U @l WaaS gouwy Sauino jue wilo
=l WO)y> Weo U9
10Ul alioW goiwl -
- Listen to the following examples:
- the_dog
the_biscuit
The_dog ate the_biscuit.

Rule# 2: the + vowel

- Linking the to a word that begins with a vowel sound (except long e) requires pronouncing
the final sound of the word the as a long e (the vowel sound in the word keep), then linking
it with a y sound to the following word.

iwwlo+ the :Y# daclall

d w3V wgall i ol Lo (€ awdl weo Sy pllo) wils Wy olaiwedl dolSIL the dolsll b,

oS Loy b sl @olSUl go Y o @yss 5 ( KeEp olS (58 ggommoll) € aall weaS the dols)|
1oLl alioVl (8

- Listen to the following examples:
- the_,_afternoon
The_,_optometrist took the_,_afternoon off.

Rule# 3: the + long e
- Linking the to a word that begins with a long e requires pronouncing the final sound in the

word the as a schwa, then linking it smoothly to the following word. This is very similar to
linking the + consonant.

- Listen to the following examples:

- the_emotions
The_emotions of the_enormous catastrophe were strong.

e \oJl+ the : Y# daclall

anyy o5 oo 9 gl wgaS colall hi Ol wxgiun e Jighll alell weas 1as dels) the by,
wlgall + the by acwl &l Ladi il aodSJl 2o aLwMuw
oMel alioW goiwl
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Linking Continuous Consonants in American English pronunciation
- Fricative, nasal, glide, and liquid sounds are all similar types of sounds in that they are all

continuous consonant sounds; they are the same from beginning to end.

1ol Sy, 0Vl @ judxiVl (\9 6,0 | vl [F=Y]
(@S L) diolo wleol lpisS b apilisio lpzaas asiloll 3 adVpl awl aSSiml Gleo

Linking the same continuous consonant
- In American English pronunciation, when one word ends with the same continuous

consonant sound as the next word begins with, the sound is only said one time and shared
with both words. There should be no break or pause between the words.

povnod | Caoladl wewo pusiv wladS by,

weall 0l (Ll sl aedSIl @ il SIS Heiwe caolay @Sl capil 15! (@Su 0Vl axplll (s -
oo UgS_w gl suo; JooB Jld WSy V Ul iy . uwiedSUI MS aS,Laws g da>lg 0,0 (3laiy
coiodSJl
20Ul alioVl (08 wl)ledl sl sl gouwl

- Listen to the following linked phrases.
- enough_food
wants_some_more

- In the phrases enough_food and wants_some_more there is no pause between the words.
In fact, the middle consonant sound is shared so perfectly with both the first and the second
words that we cannot tell that the consonant occurs twice. Don't let different spellings for
the sounds confuse you.

9 .oledSl e asdalll assiwd) 59>9 YV wants-some-more g enough-food ol)lel 8 -
Sl o=l IS S aslidl 9 oVl aolsUl 8 o S, Line o louwgll colall weall cdsas=ll
OlgoVl (88 eSS aalizeoll @ LSUl g5 V Lol Gas> 18 weall 14 Ul ase Jgall Syl

- Listen to this dialog between Squid and Wilma. Notice the same-fricative links.
ASISoY wlgoVl Guss bay; b>V . Wilma ¢ Squid ¢ oUsl &slzoll (sJl gosowl -

- SQUID: Do we have enough_food for the party?
WILMA: yeah, but Henry wants_some_more ice. There's only enough_for each glass to be
half_full.
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Linking Different Continuous Consonants

- When linking different continuous consonant sounds, one sound should blend into the next
with no break between words and without accidentally adding an extra vowel sound
between the words. Because these sounds often don't occur next to each other within
words, it may take extra practice at first to smoothly join these sounds together.

o Jol Vs Ay Sl go Guigall 3>l 230 L cpmtlizee uproiiie uiolo Guigo by, e -
ple JSin a>giV wlgoVl 04 VY . LuiedSUl w aus e 8901 Ll de W aSlol U uiodS
OlgoVl 04 by, Jezd alodl (08 @8lol ¢uled 336 0l Jouseoll oo « wlalSIl J31s (8 6 y9lsio
U3l alioVI bl

- Listen to the following linked phrases.
- because_she
fresh_fruit

In the phrases because she and fresh fruit there is no pause between the words.
The consonant sounds blend evenly and smoothly from one sound to the next.

- Listen to the dialog between Squid and Wilma. Notice the continuous consonant links.

- SQUID: It's_still_snowing, isn't it?
WILMA: No, it's_raining_now.

WlolsJl G w99 A>gs V fresh-fruit 9 because_she wl)L2Jl s\
53> sl weo o Soluwio JSin 9w Mo gwii wwolall weall -
.8 yoiuunl| @olall wlgoVl ),y lh>Vg oMel Hlg=l) goiwl -

To sum up:

- Because fricative, nasal, glide and liquid sounds are continuous, they can blend smoothly
from one sound to the next. No silent gaps or additional vowel sounds should get added
between linked continuous consonants.

Hlais\

2wig & y0d Ul Sou b poiuo Wlgol laes dgiloll g @8V VI cauas V&S SVl wlgoVl OV
wlgall wls OlodSUl w8515 ale adlol gl weSwll gl wdgl) >g>9 V .al, Sil) Weo o awluww
Loy 0o J> (09 6 ool
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Linking from the letter £in American English Pronunciation

- The letter tis one of the most versatile letters in English pronunciation. In American English,
there are four common pronunciations used for the letter £ There are huge variations of the
pronunciation of the letter t among the different large English dialect groups (British,
Australian, and American). The rules listed here cannot be used as guides for any dialect
other than American English pronunciation.

1SU 0 V| @il VI (N t WOl o bou )l

0 ool aslll sk cxd (Aik 5 @S, JSLbl £0i3 s> oo ) &ML 8,5Vl 48] oo t Byl -
ot Loud byl ks o 8,08 oWl Ul Lol Lauiky JLa! £ @l t o,z a0Vl axpll
8,65 3ol sl (00,0l o Ly il ) oo @izl uiblil) &amioll olxglll
S0Vl ue axpl SV JJaS aoisi ul ySou V obsl

Basically, the letter £can:
1. Sound like a regular t sound (as in the word time
2. Sound like a quick d sound (as in the word /ittle
3. Become a glottal stop (as in the word partner
4. Be ignored and have no sound at all (as in the word center
: Ul Sou t Ol cawlwl JSiw
(time 9 S) stivoll t JI wWeaS ouuwn
( little 38 LS) guydl d W9aS ooy
( partner .8 S ) S,lojo wdg (sJl Jg=iy

( center (59 aS) LIS (sig.0 V auwas 9 ol

To be Continued © ©
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Linking Sounds
UlgoVl by,

Linking Discontinuous Consonants in American English Pronunciation

- Stops and affricates are called discontinuous consonant sounds because they briefly stop all
air, then create sound when the air is released. Because there are two parts to these
sounds, linking them may cause the sound to change.

S oVl & sl V1 aspll | aboi (59 aghiiol] duSlul B =)l b

OO 9¢ Oju>9 o).mJ =|9.3J|,JS-_0.99.: l.e)\lqsda.o.wq.aSL».u u|9..0| M%)lxw\” ulg.-o\”gngg.” -
Lpdny, 0L gVl oig) uls> s OV g .cS,31 8,0 ,9,00b slopl) Procs Ul 5,200 oo 3l oo
g.a.U).‘.a&J;Mu.lS

- Stops are sounds that are created when the air is stopped from leaving the vocal tract for a
short amount of time, and then released smoothly.

aBMb| o5 (o9 8,8 d30d clgpll Sy=0 JM> 9,0l (o slgpdl 895 dic UGS Wlgol sd Bgdg)l -

- Affricates are sounds that are created when the air is stopped from leaving the vocal tract
for a short amount of time, then released with a smaller opening, causing friction.

810J slogdl Sy 8,520 o WLl 03 Sl slog)l s WsSiadl ol (ad &l ClgoVl -
il Sazd JolS e 9 bwn JScin Syz=all 2ud JMs o a8Mbl o5 o5 0 9 o3l o dasn

Linking to a discontinuous consonant

- Linking fo a stop or affricate is simpler than linking from a stop or affricate to another
sound. To link to a stop or affricate from a continuous consonant sound or vowel sound,
simply blend the first sound into the beginning of the stop or affricate. No pause should be
added between the sounds.

Rlasio wolo sl syl

oo widg gl SIS (sl by yid LS,V WlgoV go byl o Jpwl (889 gl Syl (JI by
iy VY .sadgll gl sSIEsVI waall @lay (sl JgVl weall zuoss dbbluuy «ilo gl ouws wwolo
WlgoVl G weSiw s weSy Ul

- Listen to the phrases can't_ache and can_take. Notice that there is no pause between the
words. In fact, the first sound blends smoothly into the beginning of the stop or affricate
sound, and the stop or affricate is said normally. We cannot tell (from this limited context)
the difference between the two phrases.
can't_ache and can_take

JoVl waall (g8lg)l (s . lodSIl w weSiw 1>g)V . can-take g cant-ache wl)lell (sJl goswl
A8 s9) uaiww) .aueub 8)9.0) LdMS (sl 9 (@wMuw a9l 9 S )Vl Weo 4l 8o gws
ool G Gyell auog Ul (39a=0dl Bl
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Linking from a discontinuous consonant

- When a word that ends in a stop or affricate is linked to another word, the stop or affricate
is often not fully said. Oftentimes, the air is stopped in the vocal tract as normal,
but the release of the air is said as the first sound of the next word. This also
happens within words with common consonant blends, like b+r (bright) or c+r (cream) or
even with three consonants in a row, s+c+r (scream).

:gbsio wolo o bu)ll

V (5999g)l 9 (sSix VI wgall OB Sy dalS go (89999 9l o5)lxtil woay (spiss &alS by, 2ic
oSy @b 8,900 weall Sy=o S35 clgpll > pi WLVl el (58 . JolS JSin vllasl,
&0 Wiz Lyl 13 .(Lphay,) sloll) @l aodsl o JoVI weall 2, slgpdl 11 SMbl 5,500
Cwolgo @&W zwa) (sa> gl b+r (bright), c+r(cream) Jio azoio @iolo wlgoV dgizoll lodSI
. S+c+r(scream)adlio
- b+r, bright:
If the word bright is said correctly, the lips are closed for the b sound, and the r sound is
said immediately as the lips open.
r Sea ghis lp=id dicy b @sal 3le 8ol O (o JSuin wihs bright aoelS ol o)
X IOV

- C+r, cream:
With the word cream, the r sound begins at the same time as the k sound is released.
KOs a8 2% Sl gl Guss 9 o Fwgs « cream aolS (s

- s+c+r, scream:
With the word scream, the s sound continues until the air is stopped for the k sound, and
the r sound begins at the same the as the k sound is released. Sounds flows evenly from
one to the next.
el go Lolzio Lol 1aw 1 wgally k woall slggll @dgis (sim yovmu S waall « SCream aolS (s
2>W a1y o JsVI aie asleio aulowil )= wlgoVl .k weall

- The technique for linking adjacent consonants within words is the same as native English
speakers use to link discontinuous consonants between different words; the air is stopped in
the vocal tract as normal, but the release of the air is said as the first sound of the next
word.

VeVl Ogiazodl L oy (sl Lot o ladSUIl J51s (58 8,9lxi0ll wlgoM bl duiss

aso 2y sl ousg wwsall Syxo 8 slogl s fdslizo wlolS (u dshsioll GlgoVl
JWl aadSl oo JoVI woall


http://www.pronuncian.com/sounds.aspx?sound=3%205
http://www.pronuncian.com/sounds.aspx?sound=25%204
http://www.pronuncian.com/sounds.aspx?sound=25%204
http://www.pronuncian.com/sounds.aspx?sound=20%205
http://www.pronuncian.com/sounds.aspx?sound=32%206
http://www.pronuncian.com/sounds.aspx?sound=20%205
http://www.pronuncian.com/sounds.aspx?sound=25%204
http://www.pronuncian.com/sounds.aspx?sound=20%205
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- Notice in the phrases Kate's creams and Kate screams, that there are two stops, the t sound
and the k sound. Both phrases link t + s + ¢ + r. The t sound is released as the s sound,
and the k sound is released as the r sound. The t sound, s sound, k sound, and r sound all
link with exactly the same technique, no matter if the s sound is the final sound of the first
word, or the first sound of the second word. We cannot hear (from this limited context) a
difference between the following phrases.

ol US . K wew 9t weo « ULBYg lld ul (Kate screams gKate'’s cream wl)lell (9 bV
it by WlgoVl 018 o> .F 80 K Weo 9 S wewo &0 Lol (sl t weo . t+S+HCHr Loy
iV L aull andSIl 58 JgVl gl « sJoVl aolsUl 59 3Vl 9 S Weo Ul o) il Las causill
Kate's_creams and Kate_screams Play. ,l)l (o lowd u00 Ol (59020 Oluw)

- Listen to the following linked phrases.keep_thinking last_sunday

last- Sunday gkeep- thinking wilogssoll i)l 2ouwl

- With linking, speakers need to learn to link sounds that are not commonly near each other
within words. For example, in the phrase keep thinking, we link the p sound to the th sound.
There are no words in English language (with the exception of compound nouns) that have
a p sound followed by a th sound. However, the linking between these words occurs the
same as it does when other words link a stop to another sound. With this phrase, we link
the words by stopping the air with our lips, as we normally would for the p sound, but we
release the air with the th sound.

WJball Jw (sd=d . OladSl S35 (58 8 9lxio 35le USHY Wlgol by pleid glizy ozl das)l 2o
slocw VI clisiwl) asud=Vl (08 wledS 1>g3V . th weo (JI p wew by keep- thinking é,Le 9
by y sl daplall pusio i GuielSl G byl (S 2o L th weay ggsin P wso (sle Seiz (&S woll
wgal dsle Guaidl (8l ou> clgpl sy puialSIl by B)Ledl 038 (8 53l wea) (89989 wso Loy

. th W hali el ud g clgpdl GMbl 5,00 SJg ¢ p

- With the phrase /ast_Sunday, we link the words by stopping the air with our tongue for the t

sound, but release it as the s sound.
. Swgall asllhig & weall Ll slgpdl uuz GuiodSIl by ¢ last-Sundays,lel) acuwadl


http://www.pronuncian.com/sounds.aspx?sound=4%205
http://www.pronuncian.com/sounds.aspx?sound=32%206
http://www.pronuncian.com/sounds.aspx?sound=20%205
http://www.pronuncian.com/sounds.aspx?sound=25%204
http://www.pronuncian.com/Lessons/Default.aspx?Lesson=55
http://www.pronuncian.com/sounds.aspx?sound=17%205
http://www.pronuncian.com/sounds.aspx?sound=28%206
http://www.pronuncian.com/sounds.aspx?sound=28%206
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Linking discontinuous consonants to the same sound

- There are two pronunciation options for when a stop or affricate is linked to the same
sound; (1) the sound is may only said one time, and shared with both words or (2) the first
sound may be said very quickly with only a tiny release of air between words.

Listen to the following linked phrases.
Take_care (linked stops)
orange_juice (linked affricates) Play
s weall (Jl aehsioll wwlgall by,
Bhiy 8 weall (1) twsr weall go by, S)lxsil gl (59995 weo Ul JI> (8 shaill o)l lla
weall S =0 pu aeyyw 8905 JgVIl waall hal) (V) ol GuiodSII MS aS;,Lawsd S0 Vg da>lg 6,0
cowiodSIl G lowd clgpdl ool > b JSiay
oMel wl)ll (I gouwl

- When linking the same stop sound, it is more likely that the sound is said only once, as in
the example take_care, and shared with both words. When linking affricates, the sound may
be said twice, but said very quickly the first time, as in the example orange_juice.

Jlio 58 oS 0,55 Vg 82>y 8,0 Sl axlg a6lS wgall ghis Ol LLeV (uud9dy cuigo by lodic
oSy iy haly 28 weall ()il Loy, loiws . GwiodSI WS (K wew) wS,Laus (take-care
. orange-juice 8 oS ( sJoVl 8,0l 88 lo> Ay yuw 0,5.00

To sum up:

To link from a discontinuous consonant to another sound, the air is stopped in the vocal
tract as normal, but the release of the air is said as the first sound of the next word. If the
linked discontinuous consonant is to the same sound, different techniques may apply.

it S
0gSy aBMbl ;;SJy cslizoll oS weall Syxo b slop)l Gz 5] wgo Wl glsio wes byl
walizs a8 weall Guiss (Jl ghsiell b, 0lS 151 &I aelSIl (58 JoVI weall basls

Linking from the letter £in American English Pronunciation

The letter tis one of the most versatile letters in English pronunciation. In American English,
there are four common pronunciations used for the letter £ There are huge variations of the
pronunciation of the letter t among the different large English dialect groups (British,
Australian, and American). The rules listed herecannot be used as guides for any dialect
other than American English pronunciation.

1S 20Vl & judos VI (88 t 9,5l o dau

8 sVl asll shi b (Ask g iS,> JISLdl £0i5 s oo ) @Wb 8,5Vl S| oo t byl
oo Loud t Byl b 08 8,08 BT Ul Loyl .auaby JSLil £ a t Byl cauSu,0Vl asplll
8,95 0dl aclgall .(OS5,0Vl 5 iVl iyl ) oo @Vl uablll &axioll wlsgll

0,0Vl uc dsep) SV JWaS aouss ol Sow Y obs|


http://www.pronuncian.com/Lessons/Default.aspx?Lesson=55
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Basically, the letter £can:

Sound like a regular t sound (as in the word time

Sound like a quick d sound (as in the word /ittle

Become a glottal stop (as in the word partner

Be ignored and have no sound at all (as in the word center

HwwnN =

: Ul (pSou t O ol cSawliwl JS i

( time 8 oS) sbiall t Jl we.aS gomw

( little o WS) &yl d wg.aS goouw

( partner (58 oS ) S,los0 wdy (sl Joxiy

( center 9 boS) LIS (sigo V away 9 Jalxu

M =

- The rules for these alternative sounds are discussed in depth in the when t doesn't sound
like tlesson.
t J S Y Latie Guys (89 o gLy Ve tO,=] albaldl adgall JSLaVI oip) b aclgsll
t ALS de gane
- Itis important to realize that the rules for the letter tare still true when the ¢ sound is the
final sound of a word, linking to the word that follows it. Listen carefully to the following
examples.
U, (oS 09 a3Vl 98 t wew UESH bodic Ao @ t WV,> aclgd Ul egiuw Ul ppoll o
2 oLl @iVl (I Lo, govowl! lpudi il aolsUl JI el

Sound like a reqular t sound
1 Sodlucd t LeaS o
SQUID: It took two days to type the entire story.

WILMA: Why did it take so long?
SQUID: I spilled tea on it, so I had to retype it.

Sound like a quick d sound

rSoluell d UeaS o
SQUID: We should meet at Anne's after the meeting tomorrow.
WILMA: T'll think about it.

Become a glottal stop

SQUID: Did you eat my sandwich?
WILMA: Yeah, I forgot my lunch at home.
SQUID: So you ate mine?

Be ignored and have no sound at all

1alsJU ] C5Y)


http://www.pronuncian.com/lessons.aspx?Lesson=43
http://www.pronuncian.com/lessons.aspx?Lesson=43
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SQUID: We should buy more cookies. A percent of the profit goes to charity.
WILMA: I don't really think that’s why you want them!

To sum up:
The sounds before and after the ¢ sound, namely vowel sounds, the r sound, | sound, m

sound and n sound all can alter the letter ¢ pronunciation. The ¢ sound is also dependent on
its placement in a word and syllable stress for determining the most likely pronunciation.

1 lais M
28 Lpewo> N Wew 9 M weo: | Wes « I wgs @ilall wlgoVl L=l ¢ t wes g S8 wWeall

a9 98 Sl glasodl 3auin 9 asdSJl Bg,> w ARdgo (sde dousy Loyl t weo .t WB)> gl s
adhol, oVl asy bl sa=ld

Linking Vowels

Most sounds are linked together by blending one sound into the next (linking consonants
and vowels, linking continuous consonants), or by combining the sounds together (linking
stops and affricates). When linking a vowel to another vowel, however, the sounds are not
blended together. Instead, Americans link vowels by adding a y sound or a w
sound between the words.
rewloall by,
9l (8 00uundl wwlgall by (ilgall go wwlgall b)) ads Sl go x| gwoa by wlgo VI el
V olisall 0B (il wilo by, JI> (09 (&, g @uadsll b)) lopass 2o puigall wuS
lowd alioVl . uiolSUl G W weo gl Y wWes a8lol ilgall uglayy UISL VI (S Loge (Ulxony
HENY

Example: linking vowels with a y sound
I_y_admire Play

Example: linking vowels with a w sound
do_w_it

- Many non-native speakers tend to do one of two things when linking vowels; they either
blend the vowels (which makes the sounds less clear), or they briefly stop all sound by
closing the airflow at the back of the throat (called a glottal stop). While the glottal stops
cause fewer miscommunications than blending vowels into one another, it does create
speech that sounds choppy and non-fluent when it is used incorrectly.
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To create a smooth, fluid link between a word that ends in a vowel sound and a word that
begins with a vowel sound, a quick y sound or w sound is added between the words,
connecting one word to the next. This allows the listener to perceive both words as
separate, while never needing to stop the airflow between words.
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Deciding whether to link vowels together with a y sound or a w sound will eventually come
naturally to the speaker. Linking with the wrong sound will feel and sound awkward.
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Try saying the phrases with a w sound instead to hear the difference between a correct and
incorrect pronunciation.

sosbldly pusall JSidl o Byl >V 9 W wgary weo JIul w)lell ghs Jol>
I_y_admire
very_y_old
he_y_asked P

Try saying the phrases with a y sound instead to hear the difference between a correct and
incorrect pronunciation.
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do_w_it
now_w_on
new__ w_ice skates

To review Linking Sound

To link a consonant sound to a wake_up and way_cup
vowel sound, the consonant sound mice_eat and my_seat
is shared by both words.
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Linking the Word the

Rule# 1: the +consonant

wwlo + the:) # diclall

the_dog
the_biscuit
The_dog ate the_biscuit.

Rule# 2: the + vowel
ivwlo+ the :Y# daclall

the_,_afternoon
The_,_optometrist took the_,_afternoon off.

Rule# 3: the + long e

e JoJl+ the: Y# daclaJl

the_emotions
The_emotions of the_enormous catastrophe were strong.

Linking the same continuous consonant

enough_food
wants_some_more

Linking Different Continuous Consonants

Aalizeoll &
SQUID: It's_still_snowing, isn't it? because_she
WILMA: No, it's_raining_now. fresh_fruit
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Linking from the letter ¢

tw,dl o by
Sound like a regular 1 sound (as in Sound like a quick d sound (as
the word time in the word /ittle
Become a glottal stop (as in the Be ighored and have no sound
word partner at all (as in the word center

Notes:




